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HAL is a multi-disciplinary open access
archive for the deposit and dissemination of sci-
entific research documents, whether they are pub-
lished or not. The documents may come from
teaching and research institutions in France or
abroad, or from public or private research centers.

L’archive ouverte pluridisciplinaire HAL, est
destinée au dépôt et à la diffusion de documents
scientifiques de niveau recherche, publiés ou non,
émanant des établissements d’enseignement et de
recherche français ou étrangers, des laboratoires
publics ou privés.

Méthodes de Galerkin Discontinu pour la résolution du
système de Maxwell sur des maillages localement

raffinés non-conformes
Nicolas Canouet

To cite this version:
Nicolas Canouet. Méthodes de Galerkin Discontinu pour la résolution du système de Maxwell sur
des maillages localement raffinés non-conformes. Mathématiques [math]. Ecole des Ponts ParisTech,
2003. Français. �NNT : 2003ENPC0009�. �pastel-00000555�

https://pastel.hal.science/pastel-00000555
https://hal.archives-ouvertes.fr


Ecole Nationale des Ponts et Chaussées
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ε0 =
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µ0 = 4π.10−7H/m.
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∂t
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�	��
��
��� 
� 	
��
��������� ��

S
% ��������	� �� �
����
���
 �� TA

���	������

div(TA) = div(A) + n.[A]S δS ,

rot(TA) = rot(A) + n× [A]S δS ,
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A

 ������� 
�
�����	� S �
�����
��  ������� ��
 ����������
�� ��	�
���

�� �� �	�
����� ���
	���� ��
 ���������
����������� ���� 
�� ������
�� +��%,% +��',% +��!, �� +��*,� �� ����
�� ��� �
���� 	��

��������� �
�� �� �
��� �������
�� ���� 
� 	
��
��������� ��
S � �� ��	
��
�� 
�

����������
� �	�
���� Tρ
�� 
� �
��� ����� ������� �� 	����� �

������ ρ �� ������� ��

	����� �����	���� ρS
+
Tρ = ρ + ρS

,� �� ��	
��
�� �� ������� ���

��� 
� ����������
�

#



����	��� �� ���������	�� ��������

�

������ Tj
� �����% 
�� ������
�� �� ��
 �

 �� ���� ��� ����������
�� ���	������

ε(x)
∂E

∂t
− rotH− n× [H]S = −j− jS δS ,

+��$,

µ(x)
∂H

∂t
+ rotE + n× [E]S = 0,

+��&,
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��� �� ������
#
�� 
� ������� �� ��
 �

 �� ������
�� E

��
H





ε(x)
∂E

∂t
= rot(H),

µ(x)
∂H

∂t
= − rot(E).

+��"',

�� ������� 
� ������� ��� 	����� �
����� �
�� V �� ���

���





∫

V
ε(x)

∂E

∂t
=

∫

V
rot(H),

∫

V
µ(x)

∂H

∂t
= −

∫

V
rot(E).

+��"!,

�� ����
���� ��� ε % µ �� 
�� 	����� �
�� 	
������� ��� 	����� 	�

�
� V �� �� ���
�����
��� �
���
� �� ����� �
�� 
�� ������ �� ��
��� ��� ������
��% 
� 
������





ε(x)
∂E

∂t
=

1

V

∑

V ′ �
���� ��
V

∫

∂V ∩∂V ′

n×H∂V ∩∂V ′ ,

µ(x)
∂H

∂t
= − 1

V

∑

V ′ �
���� ��
V

∫

∂V ∩∂V
′

n×E∂V ∩∂V
′ ,

+��"*,


�
n

��� 
� �
���
� �������� �
��������  
V �

�
 �����  ���
��� 
�� .�
 ��
 �������	�� ��� 	�

�
��� !�� �������
�� �
�� 	�
	�
��� �� �������
	������

H∂V ∩∂V
′ =

HV + HV
′

2
.

+��"#,
	� �	���� ��������	��� ���� ���	���� �
�� 
� �
��� +�� 
������� 
�����	� V ,





ε
∂E

∂t
= Ψ1(H),

µ
∂H

∂t
= −Ψ2(E),

+��"$,


�
Ψ1

��
Ψ2

������������ 
� �
��� ��� .�
 ���������� �� E
��

H �����	��������� �
 ������
���� �	���� 	
��������� �
�� 
�� .�
 �
�� 	
����������
	� �	���� ����
��
 ���
��� ��� 
� �	���� �������
��
� ��
���� "� 	� �	���� ���	��� �

��





En+1 = En + ∆tΨ1(H
n+ 1

2 )/ε,

Hn+ 3
2 = Hn+ 1

2 −∆tΨ2(E
n+1)/µ.
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C∆t

√
(

1

∆x2
+

1

∆y2
+

1

∆z2
) ≤ 2.

+��%�,
!���� 	
�����
� ��� " �
���
��� 	
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� +��"�, �� �����
��� �� �	����
�� "���

����� �� 1���2�
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�
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���� ���� �'&� ��� 
� �	���� ��� ����
� �� �
���

L2 ��� �
�� ���

��� ��
�

������ �� �
�� �
���� 	�

�
�� ����	����� V ��

V
′ 
� ��� �� ����� ∆t ����(�

∆t2 < 16
V V

′

PP
′
min(εµ

′

,ε
′

µ),
+��%�,
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�� �
��� 
��� ����
����� �� ��
����
� ω �� �� ��	���� ��
��� k =t(kx,ky,kz)

% 
�
��
���
� �� ��������
� ���	���� ����(�� ��� 
� �	���� )
! ��� �
���� ���

ω2 = C2|k|2 +
C2|k|4

12

(
C2∆t2 − 4

k4
x∆x2 + k4

y∆y
2 + k4

z∆z
2

|k|4

)
+O(∆4).
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� �	���� ��
���� "��� 	���	�� �
�	  ���
���� 
� �������





∂u

∂t
= c

∂v

∂x
,

∂v

∂t
= c

∂u

∂x
.

+��%%,

�� 	
������� ���� �� ������� ����� ��� ���

� ����
��� +��� ������	� (
� ∆x,� #�� ���
��

� ���

�% 
� �	���� )
! ���	�������� +��%%, ���	���





un+1
j = un

j +
c∆t

∆x
(v

n+1/2
j+1 − vn+1/2

j−1 ),

v
n+3/2
j = v

n+1/2
j +

c∆t

∆x
(un+1

j+1 − vn+1
j−1 ),

+��%',


�
n
������� 
�����	� ����
��
 �� j


�����	� ������
�
!���	�
�� ��� �

���
�� �� +��%', �
�� 
� �
���





un
j = Uei(ωn∆t− kj∆x),

v
n+1/2
j = V ei(ω(n+ 1/2)∆t − kj∆x),

+��%!,

� 
� �������	� ω ��� (
��� U ��

V
�
�� �

�� �

���
�� ��




2i sin(ω∆t/2)

∆t

−ic sin(k∆x)

∆x
−ic sin(k∆x)

∆x

2i sin(ω∆t/2)

∆t




(
U

V

)
= 0.

+��%*,

U
��
V

�
�� �

���
�� �� �� ���
����� �� 
� ����������� �� 
� �����	� ��� ��
 �
��

2∆x

c∆t
| sin(ω∆t/2)| = | sin(k∆x)|. +��%#,

�� 	�
���� 
� ��� �� �������
���
 ���
���� ��� 
� 	
�����
� �� �����
��� +�
�� c∆t/∆x = 2,�	����
��� +��%#, ��� ����(�� �� �� ���
����� ��

ω∆t

2
= k∆x


� ����
= −k∆x


� ����
= k∆x+ π


� ����
= π − k∆x.

�*



���� �� ������ ������� �	�	� ������� �����

�� �
��% 
� ������� +��%*, ������ �� 
��� 
�� ���
������ U ��
V ���

U

V
=

2∆x sin(ω∆t/2)

c∆t sin(k∆x)
.

+��%$,

�� � �
�	 (��
����� ������ ����� ��
��� �

���
�� �� +��%', �
����� ���





un
j = Uei(ωn∆t− kj∆x),

v
n+1/2
j = V ei(ω(n + 1/2)∆t − kj∆x),

U = V,





un
j = Uei(ωn∆t+ kj∆x),

v
n+1/2
j = V ei(ω(n + 1/2)∆t + kj∆x),

U = −V,




un
j = (−1)j Uei(ωn∆t− kj∆x),

v
n+1/2
j = (−1)j V ei(ω(n + 1/2)∆t− kj∆x),

U = −V,




un
j = (−1)j Uei(ωn∆t+ kj∆x),

v
n+1/2
j = (−1)j V ei(ω(n + 1/2)∆t+ kj∆x),

U = V.

+��%&,

�#



����	��� �� ���������	�� ��������

Zone 1 Zone 2

x=0

j=−2 j=−1 j=0 j=1

∆x ∆y

���� ��% � ����� ��� ��� ��	���
������


��  ������� ��� �� ���

��� 	
������� �� ���
 �
��� ����
����� +(���� ��%,� 	�

�
�� � � �� ��� ������	� ∆x
�� 
� �
�� " �� ��� ������	� ∆y �

�� � ���
 �
����� ��
���
������	�� ��� 	��	��� ��� ���

��

k− =
w

c−
(x < 0)

��
k+ =

w

c+
(x > 0).

+��'�,
	� ��
���
� +��%#, ������ ���	����

sin(k+∆y)

∆y
=

sin(k−∆x)

∆x

=⇒ k+ = k− +O(∆2).

�� 	���	�� ��� �

���
� �� �	���� )
! ���	������ 	
��� ��� ������
����
� �� �

���
��
�
����� ���� +��%&,� �� 	�
���� ��� 
��� ��	������ �����
����� �  ����
�� ���� 
� �
�� ��
���� 
� �
�� �% 
��������	� �� ��-������ �� ���

��� ������ ��� 
��� ��.�	��� +���
�����
R, �� ��� 
��� ��.�	��� �������� +���
����� P , �

�� ��� ���� 
� ���

� (�� �� ��
������ ���

��� ��������� +���
����� T , �� ��� 
��� ��������� �������� +���
����� Q,� �� 	���	��
(��
����� ��� �

���
� ���	������ 	
��� 
� ������
����
� �� 	��� 
���� �
����� ���� 
�
���
��� ������ �����������  
� �

���
� �������� �� �	����

j < 0,





un
j+1/2 = eiωn∆t

(
e−ik−j∆x + (R+ (−1)jP )eik

−j∆x
)
,

v
n+1/2
j+1/2 = eiωn∆t

(
e−ik−j∆x − (R − (−1)jP )eik

−j∆x
)
,

+��'�,

�$



���� �� ������ ������� �	�	� ������� �����

#���
�� ���� ��
��� ��������	� ������
� ���
����� ��
������
�
�
�� � ���� ��	������ −k−∆x


�)�� −→
���� ��.�	��� k−∆x


��% )��� ←−
���� ��.�	��� �������� π + k−∆x


�)�� ←↩
�
�� " ���� ��������� −k+∆y


�)�� −→
���� ��������� �������� π − k+∆y


��% )��� ↪→

���� ��� � ����� � ������ �� ����������

j ≥ 0,





un
j+1/2 = eiωn∆t

(
Te−ik+j∆y + (−1)jQe−ik+j∆y

)
,

v
n+1/2
j+1/2 = eiωn∆t

(
Te−ik+j∆y − (−1)jQe−ik+j∆y

)
.

+��'",
�� ����������� ��
 ���
 	�

�
�� �����������  
��������	�� 	� ����  �
�� ��� ��	
�����
��	������ 
����
����
� ��

u
��
v
�� x = 0 � !
��� 
� 
�� ��% 	���� ���
����
� ��� 	�
	�
��

�� ������� 	������

un
x=0 =

un
−1/2 + un

1/2

2

��
v

n+1/2
x=0 =

v
n+1/2
−1/2

+ v
n+1/2
1/2

2
.

�� ��
�
�� ������
����� ��� �
�������
� ��������� ���� ��������� α +
α 6= 0

%
α 6= 1,���� 
� 	�
	�
 �� 	� .�


un
x=0 = αun

−1/2 + (1− α)un
1/2

��
v

n+1/2
x=0 = αv

n+1/2
−1/2 + (1− α)v

n+1/2
1/2 .

+��'%,
�
�� 
�� 	�

�
�� j = −1

��
j = 0

% 
� �	���� ���	��� �

��





∆x

∆t
(un+1

−1/2 − u
n
−1/2) + αv

n+1/2
−1/2 + (1− α)v

n+1/2
1/2 − (v

n+1/2
−1/2 + v

n+1/2
−3/2 )/2 = 0,

∆x

∆t
(v

n+3/2
−1/2 − v

n+1/2
−1/2 ) + αun+1

−1/2 + (1− α)un+1
1/2 − (un+1

−1/2 + un+1
−3/2)/2 = 0,

∆y

∆t
(un+1

1/2 − u
n
1/2)− αv

n+1/2
−1/2 − (1− α)v

n+1/2
1/2 + (v

n+1/2
1/2 + v

n+1/2
3/2 )/2 = 0,

∆y

∆t
(v

n+3/2
1/2 − vn+1/2

1/2 )− αun+1
−1/2 − (1− α)un+1

1/2 + (un+1
1/2 + un+1

3/2 )/2 = 0.

+��'',

�� ����	���� 
�� �

���
�� +��'�, �� +��'", ���� 
�� ������
�� +��'',% 
� 
������




2i∆x sin(ω∆t/2)

∆t
U−1/2 +

(
α− 1

2

)
V−1/2 + (1− α)V1/2 −

1

2
V−3/2 = 0,

2i∆x sin(ω∆t/2)

∆t
V−1/2 +

(
α− 1

2

)
U−1/2 + (1− α)U1/2 −

1

2
U−3/2 = 0,

2i∆y sin(ω∆t/2)

∆t
U1/2 +

(
α− 1

2

)
V1/2 − αV−1/2 +

1

2
V3/2 = 0,

2i∆y sin(ω∆t/2)

∆t
V1/2 +

(
α− 1

2

)
U1/2 − αU−1/2 +

1

2
U3/2 = 0,

+��'!,

�&



����	��� �� ���������	�� ��������


�





U−3/2 = e−ik−3∆x/2 + eik
−3∆x/2(R+ iP ), V−3/2 = e−ik−3∆x/2 + eik

−3∆x/2(−R+ iP ),

U−1/2 = e−ik−∆x/2 + eik
−3∆x/2(R + iP ), V−1/2 = e−ik−∆x/2 + eik

−3∆x/2(−R+ iP ),

U1/2 = e−ik+∆y/2(T − iQ), V1/2 = e−ik+∆y/2(T + iQ),

U3/2 = e−ik+∆y/2(T + iQ), V3/2 = e−ik+∆y/2(T − iQ).

�� �(�	��� ������� ��� ����

�������� 
������ ��� 
� ������� +��'!, �� 
� ��������� ���
������(	���
� 
�� ����

�������� 
������ ��� 	
�-	����� R

%
P
%
T

��
Q � � 
�
���� �% 
�


������ +�� 	
��
����� R %
P
%
T
%
Q ���	 
���� ������ ��
���� �,




1/2 α− 1/2 0 1− α

α− 1/2 1/2 1− α 0

0 −α 1/2 α− 1/2

−α 0 α− 1/2 1/2







1 +R+ iP

1−R+ iP

T − iQ

T + iQ




=




1

1

0

0



.

+��'*,

	� �����	� �� ������� +��'*, ��� ��������
� �
�� �
�� α �
� ��
� 	� ���

���
� �� �������
�
��� �
�� �
�� α % T = 1

%
P = 0

%
Q = 0

��
R = 0 �

�� ����� �� �
����� ��� ∀α 6= 0

T = 1 +O(∆),

P = O(∆),

Q = O(∆),

R = O(∆).

+��'#,

	� �	���� ��� �
�	 �� �
��� ��
���� �  
��������	� �� 	� ���

� ��� �
�� 
� ��
��� ��
��������� �� �
�������
���� 	���	�� ����������  ���������� 
� ��
��� �� ����� ��
���� � ��� ��������� R %

P
%
T

��
Q � �� �
�� 	�� ������ ��
���� � R∗ % P ∗ % T ∗ ��

Q∗ � 
� ����

������� 
�����  
�
����

"�



���� �� ������ ������� �	�	� ������� �����

" ��� 
� ������� +��'!, �
�� ������ ���	����



∆x/2 (α− 1/2)∆x 0 (1− α)∆y

(α− 1/2)∆x ∆x/2 (1− α)∆y 0

0 −α∆x ∆y/2 (α− 1/2)∆x

−α∆x 0 (α − 1/2)∆y ∆y/2







−ik−∆x/2(1 +R∗ + iP ∗)

−ik−∆x/2(1−R∗ + iP ∗)

T ∗ − iQ∗

T ∗ + iQ∗




=




0

0

−ik+∆y/2

−ik+∆y/2



.

+��'$,
#� α 6= 0

��
α 6= 1

% 
� ������� +��'$, ����� ��� ������ �

���
� �
���� ���




−ik−∆x/2(1 +R∗ + iP ∗)

−ik−∆x/2(1 −R∗ + iP ∗)

T ∗ − iQ∗

T ∗ + iQ∗




=




−ik+∆y(1− α)

2∆xα

−ik+∆y(1− α)

2∆xα

−ik+/2

−ik+/2




.
+��'&,

	� �	���� ��� ��
���� "  
��������	� �� �� ���
����� ��
R∗ = P ∗ = Q∗ = 0

��

T ∗ = −ik+∆y/2 �
�� �
�� ��
�� �� ��� k+ = k− +O(∆2) �

�� ����(� �

�� ��� 
� �	����
��� ��
���� " �� �� ���
����� ��

α =
∆y

∆x+ ∆y
.

+��!�,
�� ����

� 
� �	���� ����
����% �	���� )
! ���	 .�
 �
������� 	�� .�
  
��������	� �
��
	�
	�
�� 	
��� ����

un
x=0 =

∆y

∆x+ ∆y
un
−1/2 +

∆x

∆x+ ∆y
un

1/2

��
v

n+1/2
x=0 =

∆y

∆x+ ∆y
v

n+1/2
−1/2 +

∆x

∆x+ ∆y
v

n+1/2
1/2 .+��!�,�� �������� ��� �� 
� ���

��� ��� ����
��� +

∆x = ∆y,% α ���� ��"� �� ����
��� 
� ����
��� 
� �	���� )
! ��� ��
���� ���
 ��� ��� ���

� ����
������ �

����� �
��� ��
�
� ���	 
� ����
���
� ����������� ��� 
� (���� ��'� �
 ������ �� 
�
��
������
� ���� ��
�� �� ���	 �� ���

��� 	
������� �� ���
 ���

�� �� ��� ������	�
��(������ 
� ��
�� ��� ������
��� ���� 
� �
�� � �� 
� ��
��� 
� ����
���
� ��� 

�� ��� 
�
����
�� �� ��
�� ��� ���� 
� �
�� "� �� �
�� 	
�������� ��� 
� �

���
� �� �	���� )
!+(���� ��'�+�,, �������� �� �
���� ��.�
�
��� !
��� �����% 
� �

���
� )
! .�
 �
������+(���� ��'�+�,, ��� �

� �� ���� ���

���� ���
����
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���� ��' � ��������	�� � ��� ����� �� ��� ��� ��	��� ������ � �����	�� �� ������

	��
�����
� ����������
���

� �� 
� �
���
� +��!�, ��� ��� �
���
� �� �
�������
� ���

�� �

����� 	�����

�����
� +��"#, �������

H∂V ∩∂V ′ =
V

′

V + V ′
HV +

V

V + V ′
HV ′ .

+��!",

���  ���� 
� 	�� �
�
��������
���
% 
� �� ���� ��� ���
����� 
� �����
��� ���� ��
 �	����
��� ��� ���

� ��� ����� ��� ����
���� !� �	���� �� ����
� ����

���� ������
� ��� �� ���

���

�
��	
��
���� 
���
�����% 
� �
�������
� +��!", ����� ��� ��� �

���
� �
�� ������� ���
���

���� 

	�
����� ��-����

������/ ��1���1��

�� � �� ��� 
� �	���� )
! ��� ��������� ��� ��� 
� ��� �� ����� ∆t

��� ����� ������

� ��� �� ����� ��
���
 ���
���� ��� 
� 	
�����
� �� �����
���� !���� 	
�(������
� ��� 	�

�
��� 
�
� ���	
���� 

�����
� �
������ ��-��� 
� ���

��� � 
� ��� �� ����� ��� (
� ��� 
�
	
�����
� �� �����
��� ���
��� ��� 
� ���

�� ��� 	
��������% 	� ���� ��� �� ����� ��� ��
�
����� ���� 
� ���

� ��
�������
�
�� ������ �� ������	� 	� ������% 
� ����
� 
���

���
� �� �
�� ��
��� +�%�%�,� 	��������
�� 	�� ���� �����
������ ��� ��� 
�������� �� 
� �

���
� �
�	�� ��� 	
�������� �� ���� �
�	
���
���� ��� ����
���
�� �� ����� 

�� �� ������� 
� ����� �� ��������
� ���� �	����� 	�
�

���
� �
�	�� �� �
�� ��
��� +�%�%�, �� �������	� ω ���� ��� 	����� ����

���� 	������

""



���� �� ������ ������� �	�	� ������� �����

�� ���

� 1m
��� �
���� ��� �%*�





Hx = −C0

2ω
sin(πx) cos(πy) cos(πz) sin(ωt),

Hy =
C0

ω
cos(πx) sin(πy) cos(πz) sin(ωt),

Hz = −C0

2ω
cos(πx) cos(πy) sin(πz) sin(ωt),

Ex = − cos(πx) sin(πy) sin(πz) cos(ωt),

Ey = 0,

Ez = − cos(πx) sin(πy) sin(πz) cos(ωt).

+��!%,

�� ����
� �
�	 
���

���
� �� �
�� ��
��� +�%�%�, +ω =
%�� �&�,� �� 	
������� ��

���

��� 	������ �� 
� 	����� 	
�����
�����  �! �
���� ��� 

������ ��
���� �� ��-��
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 �� ������
�� E

��
H





ε(x)
∂E

∂t
= rot(H),

µ(x)
∂H

∂t
= − rot(E).

+"��,

�� ������� 
� ������� ��� 	����� �
����� �
�� V �� ���

���





∫

V
ε(x)

∂E

∂t
=

∫

V
rot(H),

∫

V
µ(x)

∂H

∂t
= −

∫

V
rot(E).
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�� ����
���� ��� ε % µ �� 
�� 	����� �
�� 	
������� ��� 	����� 	�

�
� V �� �� ���
�����
��� �
���
� �� ����� �
�� 
�� ������ �� ��
��� ��� ������
��% 
� 
������ 
� �������





V ε(x)
∂E

∂t
=

∑

V
′ �
���� ��

V

∫

∂V ∩∂V ′

n×H∂V ∩∂V ′ ,

V µ(x)
∂H

∂t
= −

∑

V ′ �
���� ��
V

∫

∂V ∩∂V
′

n×E∂V ∩∂V ′ ,
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�
n

��� 
� �
���
� �������� �
��������  
V �

�
 �����  ���
��� 
�� �������
�� ��
 �������	�� ��� 	�

�
��� !�� �������
�� ��������������
������������ 	
��� 
�� 	
������ �
�	������� �� ����������� ��
 �������	�� �� �
�� 	�
	�
��
�� ������� 	������

H∂V ∩∂V ′ =
HV V ′ + HV ′V

2
,

+"�',

�

HV V ′

��
HV ′V

�
�� 	�
	�
�� �� �
�	��
� ���� ��������� β +0 ≤ β ≤ 1/2,




HV V
′ = HV +(1− 2β)

HV
′ −HV

‖GV GV ′‖2
(−−−−→
GV GV

′ .
−−−−−−→
GVGV V

′

)
+2β ¯̄∇HV .

−−−−−−→
GV GV V

′ ,

HV ′V = HV ′ +(1− 2β)
HV ′ −HV

‖GV GV ′‖2
(−−−−→
GV GV ′ .

−−−−−−→
GV ′GV V ′

)
+2β ¯̄∇HV ′ .

−−−−−−→
GV ′GV V ′ ,


�
GV

������� 
� 	����� �� ������� �� �

���
V
%
GV V ′


� 	����� �� ������� ��
∂V ∩ ∂V ′ ��

¯̄∇HV
��� �� �������� ����
	�� ��

H
��� V � �
 � � �
������� ���
�� �� ��(��� 	� ��������

�� �����	�
��� �
�� ��� ���

���� �
� ����	����� +�
�� �%�� ��� �
���
�,� �� �����

���
���� 
�� ��	��
�� ��������� �
��� 	�
�
� �� ���� ��������� ��� �� 
� ���

��� ��� ����
���

+
=⇒ −−−−−−→GVGV V ′ = −−−−−−−→GV ′GV V ′

,% 
�� ������ (HV ′ −HV ) ��������������� ��� ���� 
� 	�
	�
 ��
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�� ����� ���	��������
� ������
�% 
� ������� ����
	�� ���� ���	���� ��� 	�����
	�

�
� 	
��� ���� +�� 
������� 
�����	� V ,





ε
∂E

∂t
= Ψ1(H),

µ
∂H

∂t
= −Ψ2(E),

+"�!,


�
Ψ1

��
Ψ2

������������ 
� �
��� ��� .�
 ���������� ��
E

��
H �����	��������� 	�

�	���� ���	��� 



En+ 1
2 = En− 1

2 + ∆tΨ1(H
n)/ε,

Hn+1 = Hn −∆tΨ2(E
n+ 1

2 )/µ.
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��������� � ����	� � ���������� � ������ �� ������ ������� �	�	� ������� ����� ��
��������� �� ������ ��� ���� ����� ��������	�� � ������ �� ��� ��	��	����	����� ��������
������� � ������� �� ��	����� ��� ��������� �� �������� 	�	 ���������� ����� ������� ������
���� β��

�

�`� ��� ����
�
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������
�

	�	�� 
���
��	 �� ������
�� ������ 
� �	���� ���� 
� 	�� �� ������� �� ��
 �

  ��� �������
� ������	� �
��

��� ���

� ����
��� +
�� 	�

�
�� �
�� �
�	 ��� �������� �� ���

� ���������,� �� 	
������� 
�
	�� ���������� ���������� �� 
� ������� ��� H


� 	
��
����� �� y
�� 	���� ����������

�� ��� E

� 	
��
����� �� z

�� 	���� �
�	������




µ
∂H

∂t
− ∂E

∂x
= 0,

ε
∂E

∂t
− ∂H

∂x
= 0.

+"�#,

�� ��(��� 
� �������� �� 	���� ��� 	����� 	�

�
� ������	� i ��� �

∇Hi =
Hi+1 −Hi−1

2∆x
.

�
 ������ ���� �������� 	������
�
���� 
�� �
������
�� �
����� 	������
�� �� �
�� ��
��
�� ��� ��� �� ���

��� ����
���+
∆x

	
������,� 	� �
�	��
� �� .�
 ��������� ����� 
� 	�

�
� i �� i+ 1
���

.�

Q(i,i + 1) =

Qi +Qi+1

2
− βQi+2 −Qi

2
+ β

Qi+1 −Qi−1

2
.
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�� ��
���� ���� 
� 	�� �� ���� �� �	���� +ν = ∆t/∆x,




H
n+ 1

2

i = H
n− 1

2

i + ν/µi


.�


E(i,i+ 1)− .�
E(i− 1,i)



En+1
i = En

i + ν/εi


.�


H(i,i+ 1)− .�
H(i− 1,i),

 .

+"�$,

	����  ����




H
n+ 1

2

i = H
n− 1

2

i +
ν

2µi


−β

2
En

i+2 + β
′

En
i+1 − β

′

En
i−1 +

β

2
En

i−2




En+1
i = En

i +
ν

2εi


−β

2
H

n+ 1
2

i+2 + β
′

H
n+ 1

2

i+1 − β
′

H
n+ 1

2

i−1 +
β

2
H

n+ 1
2

i−2


 ,

+"�&,


�
ν =

∆t

∆x

��
β

′

= β + 1 �

��
�����
1 ��
 ��2���1 ���� �
� ���
����� 2���������
	�� ����
���
�� ���������� ���������� ���� 	���� ����� �
�� ���������� ��� 	
�����
�� ��


������ �� ���� ����

����� �� �
�� �� �������
� ��
�� Es

��
Hs


�� 	����� �
�	������ ��

���������� ��� 
� �����	� �
�������� �� ����
� !�� 	����� ����(��� �

��

n×Es = 0
��

n.Hs = 0.

Metal

−1 10 2

���� "�� � ����	�	�� ������	��� � ������� ��� 	�����

�� �
��
��� �� �� 	�� ��
���
�� ��� 
� ����
�� ��� ������� ���	 
�� �
����
�� �� 
�
(���� "��% 
� �
��





H
n+ 1

2

0 = H
n+ 1

2

1

H
n+ 1

2

−1 = H
n+ 1

2

2

En
0 = −En

1

En
−1 = −En

2 .	�� �
�	��
�� �� .�
 ���������� �
�� �

�� �
����� ���





.�

H(0,1) = H1 + β

H1 −H2

2.�

H(1,2) =

H1 +H2

2
+ β
−H3 +H2

4.�

E(0,1) = 0.�

E(1,2) =

E1 + E2

2
+ β
−E3 + E2 + 2E1

4
.
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	�	�	 �������
��
�����1����
 /�/�� �� ������ ����� ��� ������ �� �	�	�� �����
�� ���� �� ����	�	�� ��
��� �C = 1/

√
εµ
�

C
∆t

∆x
≤ min

θ∈[0,2π]

4

|2(1 + β) sin(θ)− β sin(2θ)| .
+"���,

�� �
��� ���� 
� ���
��� "�� ���
���� ��
���� �� !
	 �� �
�	��
� ��
β �

!
	

β = 0 2

β = 1
4 1.57

β = 1
3 1.46

β = 1 0.9

���� "�� � ��� �� �����	�� ��
β

������ /�/�� �� �
���� 	� ����
��� �� ���
����� 
� 	������ �� �����
��� �� )
� $��������� �
��

Qn
l =


 H

n− 1
2

l

En
l


 .

�� ��
	���  
����
��� �� 

����� �� ��(�������

Q̂n
l = gn(θ) exp(i lθ∆x).

+"���,
� 
��������
� (n+ 1)


� �
�� �� 

����� ���	���

Q̂n+1
l = Gθ Q̂n

l ,
+"��",


� 
� �����	� �����
�(	���
� Gθ
��� �
���� ��� �

Gθ = Id +


 −α

2 iα

iα 0


 ,

���	 α = ∆t
2∆x |2(1 + β) sin(θ)− β sin(2θ)| �	� 	
�����
� ��	������� �� ��-����� �� �����
��� �� �	���� +	
�����
� �� )
� $�����,

���	���
∀ θ ∈ [0,2π], max

s=1,2
λs

θ ≤ 1,


� 
�� ��
���� λs
θ
������������ 
�� ��
���� ��
���� �� 
� �����	� Gθ

�
!
������
�� 
� �����	� M = Gθ − Id �

	� �

����� 	���	���������� ��
M

���

P (λ) = λ2 + αλ+ α.
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����	��� �� β �������

#���
�
�� α ≤ 4 �
	�� ��
���� ��
���� ��

M
�
�� �
����� ���

λ1,2 =
−α± i

√
4α− α2

2

=⇒ max
i
|1 + λi| =

√
(2− α)2 + (4α − α2)

4
= 1.

!� ��� ���
���� 
� �����
��� �� �	�����
��	���
�������% �
���
�� ��� �
�� α > 4

% 
� �	���� ��� ������
��
$
�� ��
�� �
�� α > 4

λ1,2 =
−α±

√
α2 − 4α

2
.

�� ����
�� ���
|1 + λi| ≤ 1

=⇒ α+
√
α2 − 4α ≤ 4.
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� ���
�������
� �� 
� ��
�
����
��
�
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��� �� β ������� ����� ��� � ������ ���� ��
������ �� �� ����� ��� �� ��	����� ��	������ �� � ���� �	 β < 1/3

��
C ∆t

∆x =
√

4(1− 3β)�� ������ ��� � ������ � �� ������ �� �� ������ �� �	�����	�� �����	��� ��� ����	 � ������
��

�
�� ����(�� 
� ����� �� ��������
� ���� �	����% 
� ����
�� 
� ��
���
� ��� ��
�� 
� ��
����
�
w

����� 
��� ����
����� �� ��	���� ��
��� k � �

� ��� �
���� ���� 
� 	�� 	
����� ���

w2 = |k|2C2 ��� ����
�� 
�������
� ��� 
���� ���	���� ���� 
� ����  ������ �� �	���� �� ���
��� ���
��� ����
����� 
� ����
�� 
� ��
���
� �� ��������
� ���	����� ���� 
� 	�� �������

� 
������

w2 = |k|2C2 +
k4C2∆x2

12



C2∆t2

∆x2
− 4(1− 3β)


+O(∆4).

+"��%,
�� ��
��� ����� ��� 
� ��������
� ��� ��
���� " ���� 
� 	�� ������
 �� ����

� ��� ��
���� '
�
�� 
� 	
�����
� ��
���� 	����������� ���
��� �
�� �
����� 
� ����
��� ���	����� 
� ����
�� ��� ������
�� ������
������
	� �����	�� ��� �� 	���	��� 
�������
� ��� ����(� ��� �
�	��
� ����
���� �

���
� ���
������
�� ���	������

������ /�/�/ #���
�
�� ����
 �
���� (H,E) ∈ C∞
x,t × C∞

x,t

��
� ���

∀i,∀n, H(i∆x,n∆t) = Hn
i et E(i∆x,n∆t) = En

i .
�� ����������� 	�� ��
���� ���� 
� �	���� +"�&, �� ����� �� ����

������� �� ���

�  

�
���� ��
��% 
� �
���� ��� (H,E) ����(���





µ
∂H

∂t
(x,t) =

∂E

∂x
(x,t) + ∆x2∂

3E

∂x3
(x,t)




1− 3β

6
− C∆t2

24∆x2


+O(∆4)

ε
∂E

∂t
(x,t) =

∂H

∂x
(x,t) + ∆x2∂

3H

∂x3
(x,t)




1− 3β

6
− C∆t2

24∆x2


+O(∆4).
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!�	� �
���� ��� 
� �	���� ��� ��
���� " �� ����� �� �� ����	� �� ��� 

�����
C∆t/∆x =

√
4(1 − 3β)


� �	���� ��� ��
���� '� !�	� �
���� ����� ��� 
� ��������
�+�
���� ��� 
�� �������� ��������, ��� ���� ��
���� '� !�	� ����� ���� ��� �
����
� ���


����� β < 1

3
�

�
 ����� �
�� �� ����  ����(�� ��� 
� �	���� ��� ����
� �
�� 	���� 	
�����
� ����

∀β < 1

3
,
√

4(1 − 3β) < min
θ∈[0,2π]

4

|2(1 + β) sin(θ)− β sin(2θ)| ,
+"��',

�
��

∀β < 1

3
, ∀θ ∈ [0,2π], F (β,θ) = sin2(θ)(1− 3β)(1 + 2β sin2(θ/2))2 − 1 < 0.

�� �
���� s = sin2(θ/2)
+
s ∈ [0,1])

��
h(s) = s(1− s)(1 + 2βs)2

% 
� ����(� ���

F (β,θ) = 4(1− 3β)h(s) − 1.
�� 	���	��  �
����� ��� 
� ��
���� ��

F
��� �������� ������� (1− 3β) > 0

% 
� 	���	��
����
�� 
� ��
���� ��

h �
�� ����(� ��� 
� ��
���� ��

h
��� ������� �
��

smax =
3β − 1 +

√
9β2 + 2β + 1

8β
∈ [0,1].

�� � �

��

∀β < 1

3
, ∀θ ∈ [0,2π],F (β,θ) ≤ 4(1− 3β)h(smax)− 1.

	������ �� ���� �� �������
� ��� 
��������

� [0,1/3]
��

β −→ 4(1 − 3β)h(smax)− 1

�
�� ������ �� ����(�� ��� 4(1− 3β)−h(smax)− 1 < 0 ∀β ∈ [0,1/3] � !�	� �
�� ������ ��
�
����� 
� ��
���
� +"��', �� ��������� 
� �����
��� �� �	������� �
���� ��� 
� (���� "�" 
� !
	 ��
���� ���
���� ��� 
� 
����� �� �����
��� �� 
� !
	
���������� �� ������ 
�

β��	���� ��
���� ' �� �
�	��
� ��
β
+
β ∈ [0,13 ],� �
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��2����� /�/�� ����� �����	�� ����� �� �����
��� β
�� � ������� �� �	�����	�� ���� �����

������ �� ������� ��
� 	����������� ���� �� ��������� �� ��	������ � �	��� ��� ����
��� ��	������ ��� �� ��	�� ���� �� ���	�	� �� �����
��� β

�� ����� ����� ��� �� ������ ��	�
� ������ � ���� �� ∆x

�� �� ∆t
������� ����� �������� ���� ��������� �� �������	�� ���

������� ��� �	�����	���

��2����� /�/�/ ���� � ������	�� ���	������� ���� ������� ����� ����� �� ���	��� ��	��
������ �� �	���	��� � ���	 ��� �	��� �������	 �� ������ �������� ����� ���� ������ �� ��	�
��� �����	� �	���
�� ��� ��� ��	��� ��	������

�����1����
 /�/�� ∀β ∈ [0,1]�
��
β
������� �������� �� ���	������ �	����� �� � ������	�

�������������	����

������ /�/�� �� ��(��� 
�������� ���	���� �
�� 
� �	���� �������
��
� ���

2En
h =

∑

i

(En
i )2 +H

n+ 1
2

i .H
n− 1

2

i .

�� �
�� ν = ∆t
∆x

�� 
� ����
�� 
� ���

� ��(����
	� �������
� ��������� ��� �
���� ���

2∆En
h

= 2En+1
h − 2En

h

=
∑

i

(En+1
i )2 − (En

i )2 +

(
H

n+ 3

2

i .H
n+ 1

2

i −Hn+ 1

2

i .H
n− 1

2

i

)

=
∑

i

(En+1
i − En

i )(En+1
i + En

i ) +H
n+ 1

2

i

(
H

n+ 3

2

i −Hn+ 1

2

i

)
+H

n+ 1

2

i

(
H

n+ 1

2

i −Hn− 1

2

i

)

=
∑

i

(En+1
i + En

i )
ν

2


−β

2
H

n+ 1

2

i+2 + (1 + β)H
n+ 1

2

i+1 − (1 + β)H
n+ 1

2

i−1 +
β

2
H

n+ 1

2

i−2




+H
n+ 1

2

i

(
ν

2


−β

2
En

i+2 + (1 + β)En
i+1 − (1 + β)En

i−1 +
β

2
En

i−2



)

+H
n+ 1

2

i

(
ν

2


−β

2
En+1

i+2 + (1 + β)En+1
i+1 − (1 + β)En+1

i−1 +
β

2
En+1

i−2



)

=
∑

i

νβ

2


−En+1

i H
n+ 1

2

i+2 + En+1
i H

n+ 1
2

i−2 − En+1
i+2 H

n+ 1
2

i + En+1
i−2 H

n+ 1
2

i




+
ν(1 + β)

2


En+1

i H
n+ 1

2

i+1 − En+1
i H

n+ 1

2

i−1 + En+1
i+1 H

n+ 1

2

i − En+1
i−1 H

n+ 1

2

i




+
νβ

2


−En

i H
n+ 1

2

i+2 + En
i H

n+ 1

2

i−2 − En
i+2H

n+ 1

2

i + En
i−2H

n+ 1

2

i




+
ν(1 + β)

2


En

i H
n+ 1

2

i+1 − En
i H

n+ 1

2

i−1 +En
i+1H

n+ 1

2

i − En
i−1H

n+ 1

2

i




= 0.
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!� ��� ��
��� ��� 
� �	���� 	
������ 
�������� ���	���� �� 	� �
�� �
�� β �� �
�� �
�� ν �
�

	�	�� �������
���� ��� �����	� �����	�
�� �����

� +��
�
����
� "�"�", ��� �
�� �
�� ��� �� ����� ∆t

�� �
�� ��� ������	�
∆x ����(��� 0 < ∆t/∆x < 2

% �
 �
���� β ��
 ��� 
�
β��	���� ���
	�� �
�� ��
���� '� 	�

��
��� ��
β

���
1/3−∆t2/12∆x2 �

#
�� �

�� �� ���

��� �� 	
������� �� 	�

�
�� �� ���

� ������
� ∆xi
� 	� 	
�����
� ��

�����
��� +"���, �
�� ��	���  �
��� ∆t = 2min
i

∆xi
� �� ��(��� �

�� ��� 	����� 	�

�
� 
�

��������� βi

βi =
1

3
− ∆t2

12∆x2
i

.
+"��!,

	�� .�
 �
�� �

�� ���
��� �� 
� ������� �������� +�� �
���� Qi = t(Hi,Ei)
,

.�

Q(i,i + 1) =

Qi,i+1 +Qi+1,i

2
,

���	





Qi,i+1 = Qi +


(1− 2βi+1)

Qi+1 −Qi
1
2(∆xi+1 + ∆xi)

+ 2βi+1
Qi+1 −Qi−1

∆xi + 1
2(∆xi+1 + ∆xi−1)




∆xi

2

Qi+1,i = Qi+1 −

(1− 2βi)

Qi+1 −Qi
1
2(∆xi+1 + ∆xi)

+ 2βi
Qi+2 −Qi

∆xi+1 + 1
2(∆xi+2 + ∆xi)




∆xi+1

2
.
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������,� 	� �	���� ���� �
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�� ∆t/∆x
��� ������ !���� ��
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	�
� �� ���� �
��� 
� 	�
�
 ���
������
���

β
���� 
� �
���
� ��������

���
�� �� �(��% �� 
� �
�� ni


� �'�� �����������  
�
	�

�
� i ��  
� 	�

�
� i + 1

%
Qi,i+1

������� 
� ��
��� ��
Q

�� ni
������

��  ������ ��


� ������������
� ��� 
� 	�

�
� i � �� ������ ������	�  ���
���� �
�� 	���� ������

���
� 
�
��
��� βi

� $
�� ��
�
�
�� �
���� �����
���� βi+1
� �� ����% 
� ���
��� βi+1

�� 
��� ��
βi

�
�� 	�
	�
�� Qi+1,i
� !� 	�
�
 ����� ����
� ���� 
� �
�� ����
����� ��������������

	�	�� �����
�
� ��������	�
/�/���� ������1 � ����� ��1 �� ��2�1 1�� �
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����2�

�
�� �
��
�� 	
������ 
� �
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�� ���
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"��% �
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



H
−∆t

2

i = − exp(5(x− c∆t
2 + 2)2)

E0
i = exp(5(x + 2)2).
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����	��� �� β �������


� �

�������
� ���������� �
�	������





µ
∂Hz

∂t
+
∂Ey

∂x
− ∂Ex

∂y
= 0,

ε
∂Ex

∂t
− ∂Hz

∂y
= 0,

ε
∂Ey

∂t
+
∂Hz

∂x
= 0.

+"��#,

�(� �� ����� ����� �� 	���	���� 
���
�
��
 �� ���

���% 
� ����
���� �� ��������� �
��
	����� ����	��
�� 	� ��������� βx

+
0 ≤ βx ≤ 1/2, +�����	�������� βy

+
0 ≤ βy ≤ 1/2,,

���� ���
��� �
�� �
��� ������

���
� ���� 
� ����	��
� x +�����	�������� y,� !���� �������
�� ��
	���� �������� ���� 
� �
���
���� 	
������� ���

β��	����� +��	��
� "��, �� �
����

β =t(βx,βy).ñ
% 
�

ñ
��� 
� �
���
� �������� �
� 
������� �� 
������ ��� 
����

� 
� ���
��


�� 	������ �� ������ 	����� �
����� V ��� �
� ����	� ���� 
� ����	��
� x �� �
� ����	�
���� 
� ����	��
� y +(���� "�*,� �� ���
���  �
����� �� �������� 	����� �
�� 
� ��(����
�
���� 
� 	�� 	
��
��� ���

¯̄∇Ei,j =




Ex(i+ 1,j) − Ex(i− 1,j)

2∆x

Ex(i,j + 1)− Ex(i,j − 1)

2∆y

Ey(i+ 1,j) − Ey(i− 1,j)

2∆x

Ey(i,j + 1)− Ey(i,j − 1)

2∆y




+"��$,

�� ¯̄∇Hi,j =

(
Hz(i+ 1,j)−Hz(i− 1,j)

2∆x
,
Hz(i,j + 1)−Hz(i,j − 1)

2∆y

)
.

+"��&,

V

V

V V

V

V V

V

V

i,j i+1,ji−1,j

i−1,j−1

i−1,j+1

i+1,j−1

i+1,j+1

i,j−1

i,j+1

���� "�* � ���������	�� ��� �������� �� ��	�����

���� 
� 	�� ���� ���

��� ����
��� 
�
∆x

��
∆y

�
�� 	
�������% 	�	� �
��� 
��� ��

%*



���� ��� �	��	����	�����

�	���� �������




H
n+ 1

2
z (i,j) = H

n− 1
2

z (i,j)

− ∆t

2µ∆x


−βx

2
En

y (i+ 2,j) + β
′

xE
n
y (i+ 1,j) − β′

xE
n
y (i− 1,j) +

βx

2
En

y (i− 2,j)




+
∆t

2µ∆y


−βy

2
En

x (i,j + 2) + β
′

yE
n
x (i,j + 1)− β′

yE
n
x (i,j − 1) +

βy

2
En

x (i,j − 2)




En+1
x (i,j) = En

x (i,j)

+
∆t

2ε∆y


−βy

2
H

n+ 1
2

z (i,j + 2) + β
′

yH
n+ 1

2
z (i,j + 1)− β′

yH
n+ 1

2
z (i,j − 1) +

βy

2
H

n+ 1
2

z (i,j − 2)




En+1
y (i,j) = En

y (i,j)

− ∆t

2ε∆x


−βx

2
H

n+ 1
2

z (i+ 2,j) + β
′

xH
n+ 1

2
z (i+ 1,j)− β′

xH
n+ 1

2
z (i− 1,j) +

βx

2
H

n+ 1
2

z (i− 2,j)


 ,+"�"�,


�
β

′

x = βx+ 1
��
β

′

y = βy + 1 �	�� 	
�����
�� ��
 
������ ����

����� �
�� �������� �� 
� ���� ������� ��� ���� 
� 	��

�
�
��������
���
�
�����1����
 /���� ���� �� ��� � ��� ��	����� ��	������ �� β ������� ��� ������ ���� ��
����	�	�� ��	�����

∆t2

∆x2


2(1 + βx) sin(θ)− βx sin(2θ)


2

+
∆t2

∆y2


2(1 + βy) sin(ϕ)− βy sin(2ϕ)


2
≤ 16

∀θ ∈ [0,2π],∀ϕ ∈ [0,2π]
�

������ /���� �� �
���� 	� ����
��� ��� �� ���

��� ����
���
(∆x,∆y)

�� ���
����� 
�
	������ �� �����
��� �� )
� $������� �� �
��

Qn
l,k =




En
x (l,k)

En
y (l,k)

H
n− 1

2
z (l,k)


 .

�� ��
	���  
����
��� �� 

����� �� ��(�������

Q̂n
l,k = gn(θ,ϕ) exp(i (lθ∆x+ ϕ∆y)).

+"�"�,
� 
��������
� (n+ 1)


� �
�� �� 

����� ���	���

Q̂n+1
l,k = Gθ,ϕ Q̂n

l,k.
+"�"",

�� �
�� α(θ,∆x) =
∆t

2∆x


−βx sin(2θ) + 2(1 + βx) sin(θ)


� 	� �����	� �����
�(	���
�

Gθ,ϕ
���	��� �

��

Gθ,ϕ = Id +




−α2(ϕ,∆y) α(θ,∆x)α(ϕ,∆y) −iα(ϕ,∆y)

α(θ,∆x)α(ϕ,∆y) −α2(θ,∆x) iα(θ,∆x)

−iα(ϕ,∆y) iα(θ,∆x) 0


 .

%#



����	��� �� β �������

	� 	
�����
� ��	������� �� ��-����� �� �����
��� �� �	���� +	
�����
� �� )
� $�����,
���	���

∀ θ ∈ [0,2π],∀ϕ ∈ [0,2π], max
s=1,2,3

λs
θ,ϕ ≤ 1


� 
�� ��
���� λs
θ,ϕ

������������ 
�� ��
���� ��
���� �� 
� �����	� Gθ,ϕ
�

!
������
�� 
� �����	� M = Gθ,ϕ − Id�
	� �

����� 	���	���������� ��

M
���

P (λ) = λ(λ2 + αλ+ α),

���	 α = ∆t2

∆x2


2(1 + βx) sin(θ)− βx sin(2θ)


2

+ ∆t2

∆y2


2(1 + βy) sin(ϕ) − βy sin(2ϕ)


2 �

#���
�
�� α ≤ 4 �
	�� ��
���� ��
���� ��

M
�
�� �
����� ���

λ1,2 =
−α± i

√
4α− α2

2

��
λ3 = 0

=⇒ max
i
|1 + λi| =

√
(2− α)2 + (4α − α2)

4
= 1.

!� ��� ���
���� 
� �����
��� �� �	�����
��	���
�������% �
���
�� ��� �
�� α > 4

% 
� �	���� ��� ������
��
$
�� ��
�� �
�� α > 4

�

λ1,2 =
−α±

√
α2 − 4α

2�� ����
�� ���
|1 + λi| ≤ 1

=⇒ α+
√
α2 − 4α ≤ 4,

	� ��� ��� ��������
�

�� �
��� ���� 
� ���
��� "�" ���
���� ��
���� �� !
	 �� �
�	��
� ��
β



����� ∆x = ∆y
��
βx = βy = β �

�� ������� ��� !
	 
� ��
��� ��
���
� ��� ���� ������� ∆t
√

1
∆x2 + 1

∆y2

�
�� �����

� ��� 
� ��
��� �� !
	 �
�� 
� �	���� �� "�� ��� ��

!
	

β = 0 2

β = 1
4 1.57

β = 1
3 1.46

β = 1 0.9

���� "�" � ��� �� �����	�� ��
β

�����1����
 /���/ �� β ������� ��� � ������ ���� �� ������ �� �� ����� ��� �� ��	�����
��	������

%$



���� ��� �	��	����	�����

������ /���/ #���
�
�� ����
 �
���� (Hz,Ex,Ey) ∈ C∞
x,y,t × C∞

x,y,t

��
� ���

∀i,∀j,∀n, Hz(i∆x,j∆y,n∆t) = Hn
z (i,j) , Ex(i∆x,j∆y,n∆t) = En

x (i,j) et Ey(i∆x,j∆y,n∆t) = En
y (i,j).

�� ����������� 	�� ��
���� ���� 
� �	���� +"�"�, �� ����� �� ����

������� �� ���

�  

�
���� ��
��% 
� �
���� ��� (Hz,Ex,Ey)

����(���





µ
∂Hz

∂t
+
∂Ey

∂x
− ∂Ex

∂y
=




1− 3βy

6
∆y2 − ∆t2

24



∂3Ex

∂y3
(x,y,t)− ∆t2

24

∂3Ex

∂x2∂y
(x,y,t)

−



1− 3βx

6
∆x2 − ∆t2

24



∂3Ey

∂x3
(x,y,t) +

∆t2

24

∂3Ey

∂x∂y2
(x,y,t) +O(∆4)

ε
∂Ex

∂t
− ∂Hz

∂y
=




1− 3βy

6
∆y2 − ∆t2

24



∂3Hz

∂y3
(x,y,t)− ∆t2

24

∂3Hz

∂x2∂y
(x,y,t) +O(∆4)

ε
∂Ey

∂t
+
∂Hz

∂x
=




1− 3βx

6
∆x2 − ∆t2

24



∂3Hz

∂x3
(x,y,t) +

∆t2

24

∂3Hz

∂x∂y2
(x,y,t) +O(∆4).

+"�"%,
!� ��� ��
��� ��� 
� �	���� ��� ���� ��
���� ���
 �� ����	� �� �� ����� ��� �� ���

���

����
����

��2����� /���� ����� ���� �� ��� ������	����	������ ���� ������� ���� � ������	��
���	������� ������ ����� ����� �� ���	���� ��	���� �� ������ ����� ���� ��� �	���	� �

	���	 ��������
��� �	 ��	��	�� �	 ����	�����
/���/�� ���
 ��������1

	�������
� ������
���� +"�"%, �
���� ���� ��� 	
����������� �� 	�� �
�
��������
���
% �
 ���
���� ��� �� 	�
�
 ��
(βx,βy)

���������� ��
������ �� �	���� ��
����
������� 	������� �� ��������
� �� β��	���� �� �������
� ���
 ���� �
�	 �� ������
 ��
����
���
� $
�� �
��
�� ��� 	
���� ��������� 	� ����� ��
���� ���
 ��� �� 	�
�
 ������ ��
(βx,βy)

�
	� �������� ���� ��� �����
���� 
� �
���
� �� ���� 
�� ����	��
�� x ��

y





βx =
1

3
− ∆t2

12∆x2
,

βy =
1

3
− ∆t2

12∆y2
.

+"�"',

!���� ����
	�� ������ �
�	 ������
�� 
� ����� ��
���� ���
 �� 
������� �� ��������
� �
��
�
��� 
��� ����
����� �
�� 
� ��	���� ��
��� ��� 	

�������  

x

�  

y �
�� �
��� 	����

����
	�� �β ��� ����	��
���
!
��� 
� �
���� 
� ��
�
����
� "�%�%% 	� 	�
�
 ����� ��� 
� �
�� ����	���
 

����� ∆x = ∆y �	�����
	�� ����
���� �� 
� ��
�
����
� "�%�% ���� �
���� �β ��� 	�

�
���

%&



����	��� �� β �������

�����1����
 /���� ���� �� ��	����� ��	����� �� ∆x = ∆y �
�� ���	��� �� �����

� ������ ���� �� � ������� �� �	�����	�� ��� �	�	�	�� �������

βx = βy =
1

3
− ν2

18
���� ν = ∆t

√
1

∆x2
+

1

∆y2
.

������ /���� ���� 
� 	�� 
�
∆x = ∆y

%
βx

��� ��	��� ����
� ������ ��(����� �� βy
� �����

β = βx = βy
� �
�� �
��� 
��� ����
����� �
�� 
� ����	��
� �� ��	���� ��
��� ��� �
����

��� 
����
� θ % 
� ��
���
� �� ��������
� ���	���� �� �	���� ���	���

w2 = |k|2C2 +
k4C2

3


 1

∆x2
+

1

∆y2




−1


ν2

4
− 2(1 − 3β)(cos4(θ) + sin4(θ))


+O(∆4).

�� 	���	�� �
�	

min
β

max
θ∈[0,2π]

|ν
2

4
− 2(1 − 3β)(cos4(θ) + sin4(θ))|

= min
β

max
α∈[ 1

2
,1]
|ν

2

4
− 2(1− 3β)α|

= min
β

max


|ν

2

4
− (1− 3β)|,|2(1 − 3β)− ν2

4
|

 .


�� ����� �� �
�	��
� ������ ���	���� ��� 	� ������� ��� ���
��� �� �� ���
����� ��

ν2

4
− (1− 3β) = 2(1− 3β) − ν2

4
,

	����  ���� ��
β =

1

3
− ν2

18
�
�

/���/�/ ��2�����1�
 ��1 ���
 ��������1
!
����
��  ������� 
������� �� ��������
� ��� ���
 ����
	��� ����������

���	��������� �
�� �
��� 
��� ����
����� �
�� 
� ����	��
� �� ��	���� ��
��� ��� �
����
��� 
����
� θ % 
� ��
���
� �� ��������
� ���	���� �� β��	���� ���	���

w2 = |k|2C2 +
k4C2

3


 1

∆x2
+

1

∆y2




−1


ν2

8
− (1− 3βx)∆x2 cos4(θ)


 1

∆x2
+

1

∆y2






+
k4C2

3


 1

∆x2
+

1

∆y2




−1


ν2

8
− (1− 3βy)∆y

2 sin4(θ)


 1

∆x2
+

1

∆y2




+O(∆4).+"�"!,

�� ����
��  ������� ��� ∆x = ∆y
�� ��� k2


 1

∆x2 + 1
∆y2


−1

= 1 � !�� ���
������
	
�����
����� ����

�����������  �� ���

��� �� ' �
���� ��� 

������ ��
���� #� ��
�
�� C = 1

% 
� ������� ��������� Capp
��� �
���� ���

Capp = 1 +
1

3



ν2

4
− 2(1 − 3βx) cos4(θ)− 2(1− 3βy) sin4(θ)


+O(∆4).

'�



���� ��� �	��	����	�����

���	 
�� ����� ���
������% 
� ������� ��������� Capp
�
�� 
� �	���� ��(����	�� (���� ��

"�� ��� �
���� ���

Capp = 1 +
1

12


ν2 − 2(cos4(θ) + sin4(θ))


+O(∆4).

�� �
���� ��� 
�� (����� "�# 
� ��
���� �� ����� ��
���� ���
 �� 
� ��
���
� �� ��������
�
�
�� 
�� ��
�� �	����� +"��% �β ��� ����	��
��% �β ��� 	�

�
��, �
�� ��(������ ����� ��
���

��� �� �
�	��
� ��

ν
+
ν ����� ���� 
� �
��� �� �����
��� ��� ��
�� �	�����,� �� ����

�
��� ��� 

����� ν ������� �����% 
�� β��	����� �
�� ���� ��� ���������� ��� ����
�� ��
�	���� �� "��� �����% ���� 
� 	�� �� ��-������ �� ���

���% ���
���� �� "� �� β



	�

	
��� �
�� 
���
�� ���� �� �� ������ �
��  ���� ��
�������� �� �������� ����� ����
 ��-�
�� ������� ν �
�� ���
�
��� 
� ���	���
� ���

β��	������ 	
����� ∆x = ∆y
+(���� "�#�+�,,%


�����
	�� β ��� 	�

�
� ��� 	
��� ������ 
� �
�� ���	���� ��� 

�� ��� ∆x 6= ∆y
+(�����"�#�+�,%"�#�+	, �� "�#�+�,,% 
�����
	�� β ��� ����	��
� ��� ��������� �
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min
β

max
θ∈[0,2π]

max
φ∈[−π/2,π/2]

|ν
2

12
− (1− 3β)((cos4(θ) + sin4(θ)) cos4(φ) + sin4(φ))|, +"�"$,
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min
β

max
α∈[1/3,1]

|ν
2

12
− (1− 3β)α|. +"�"&,
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cos4(φ)/2 + sin4(φ) ≤ (cos4(θ) + sin4(θ)) cos4(φ) + sin4(φ) ≤ cos4(φ) + sin4(φ) ≤ 1.

�� ����(� ��	�
�����

min
φ∈[−π/2,π/2]

cos4(φ)/2 + sin4(φ) = 1/3.
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β =
1

3
− ν2
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βx =
1

3
− ∆t2

12∆x2
,

βy =
1

3
− ∆t2

12∆y2
,

βz =
1

3
− ∆t2

12∆z2
.
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∆t2 (f(βx,∆x,θ) + f(βy,∆y,φ) + f(βz,∆z,ψ)) ≤ 16, ∀(θ,φ,ψ) ∈ [0,2π]3,
+"�%",
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f(β,∆,γ) =

(
2(1 + β) sin(γ)− β sin(2γ)

∆

)2
�
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�� ��
���� ��
���
�� �� ν = ∆t
√
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ν

β = 0 2

β = 1
4 1.57

β = 1
3 1.46

β = 1 0.9

���� "�% � ��� �� �����	�� ��
β�βx�βy�βz
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�� ����(� ������������� ��� ∀ν ≤ 1.61
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ε(x)
∂E

∂t
= rot(H)− j,

µ(x)
∂H

∂t
= − rot(E).
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����� 
��������� rot(A).B = rot(B).A − div(B×A)
% 
� 
������





∫

Vi

εi
∂E

∂t
.ϕij =

∫

Vi

rot(ϕij).H−
∫

Vi

j.ϕij −
∫

∂Vi

(ϕij ×H).ñ,

∫

Vi

µi
∂H

∂t
.ϕij = −

∫

Vi

rot(ϕij).E +

∫

∂Vi

(ϕij ×E).ñ,

+%�%,


�
ñ

��� 
� �
���
� �������� �
��������  
Vi

� �� �
��  ������� Ei
��

Hi

� ��
��	��
�


���
�
��
� ��
E

�� ��
H

���� 
�����	� ��	�
���
 Vect(ϕij ,1 ≤ j ≤ di)
� $
�� ���
�� ���

�
�� 
� �
����� �� 	�
	�
 
� ������������
� ���	
������ �������� ��� 	�����





E '
∑

i

Ei =
∑

i

di∑

j=1

Eijϕij,

H '
∑

i

Hi =
∑

i

di∑

j=1

Hijϕij ,

+%�',


�
Eij

+�����	�������� Hij
, ������� 
� jieme ����� �� 
������ �� Ei

+�����	�������� Hi
,���

�
�� ~Ei
+�����	�������� ~Hi

, 
� ��	���� 	


��� (Eij)1≤j≤di

+�����	�������� (Hij)1≤j≤di

,��� � 
� ��
������ ��������

∀ϕ ∈ Vect(ϕij,1 ≤ j ≤ di),

∫

Vi

Ei.ϕ =

∫

Vi

E.ϕ
��
∫

Vi

Hi.ϕ =

∫

Vi

H.ϕ.
+%�!,

	�� ��	
����� ���������� �� 
� ����
�� �
�� ��� ����

�����
�� ��� Ei
��

Hi
��� �������

���� ����� ����	������ ���
����� �
�� 	�
	�
�� 
�� �������
�� �

������� �� +%�%,�
��	��� 	
�������� ����� ���
��� ����� 	�

�
�  ��� ������ #�� 	����� �������	� Fik

% 
��
��
���� ��� 	����� �
�� �
�	  ��(���� �� ��
�
�� �����
���� ��� ����

�����
� 	������

k ∈ Vi,∀x ∈ Fik, E(x) =
Ei(x) + Ek(x)

2

��
H(x) =

Hi(x) + Hk(x)

2
.

+%�*,
�� ���
��� 	���� ����

�����
� 	������ �
�� ���
��� 
�� �������
�� �����	������ �� ��
����
(��
����� �� ������� ��������	���




(
εiMi

∂~Ei

∂t

)

j

=

∫

Vi

rot(ϕij).Hi −
∫

Vi

j.ϕij −
∑

k∈Vi

∫

Fik

(ϕij ×
Hi + Hk

2
).ñik,

(
µiMi

∂ ~Hi

∂t

)

j

= −
∫

Vi

rot(ϕij).Ei +
∑

k∈Vi

∫

Fik

(ϕij ×
Ei + Ek

2
).ñik,

+%�#,


�
Mi

��� 
� �����	� �� ����� 

	�
� ���
	���  
� 	�

�
� Vi

(Mi)jk =

∫

Vi

t
ϕijϕik, 1 ≤ j,k ≤ di.

+%�$,

!#



����	��� �� ������� ������	� �	�����	��

����	 ������
���
��� 
	����	��	
!
�	������ 
����������
� ����
��

�% 
� ���
��� �� �	���� �������
��
� ��
���� "

���������  	�
�� ���
��� �
�� 
� �	���� )
! +��	��
� ��*��,� 	�� ������ �� 
������ ���
	���
�� 	���� �
�	������ E

�
�� 	�
	�
�� ��
 �������� tn = n∆t
�� �
�� �
��� En

ij
� 	��

������ �� 
������ ���
	��� �� 	���� ���������� �
�� �����  ��
 	�
	�
�� ��
 ��������

tn+1/2 = (n+ 1/2)∆t
�� �
�� �
��� Hn+1/2

ij
� 	�� ��������� En

i , H
n+1/2
i , ~En

i

�� ~H
n+1/2
i

�
��

��(���� �� ������� ���

���� 	� ��	���� jn+1/2 ������� 
� ��
��� �� 	
����� �
��	� j
 


�������� (n+ 1/2)∆t �
	� �	���� ���	��� �

��





(
εiMi

~En+1
i − ~En

i

∆t

)

j

=

∫

Vi

rot(ϕij).H
n+1/2
i −

∫

Vi

jn+1/2.ϕij −
∑

k∈Vi

∫

Fik

(ϕij×
H

n+1/2
i + H

n+1/2
k

2
).ñik,

(
µiMi

~H
n+3/2
i − ~H

n+1/2
i

∆t

)

j

= −
∫

Vi

rot(ϕij).E
n+1
i +

∑

k∈Vi

∫

Fik

(ϕij ×
En+1

i + En+1
k

2
).ñik.

+%�&,
��2����� ����� �� ���� � ����� �� ���� ��������� ��� ���� ��� �	�����	���	�� P0 �	���
∀i� di = 1

��
ϕi1 = 1

�� �� ������ ����� ��� ���������� �� ������ ��� ����	� ���� ��
����	�� ����
����� �����
���� ��� ����
	�

#
�� ��� 	�

�
� Vi
�� �
�� �� �
������ �� 	
������� �

�� ��� 	�

�
� (	���� Vk

�� 
�
�
�� Fik


� ��	� ��
������� 	�� 	
�����
�� ��
 
������ �
�� ������ �� 	
���� �� ���
���� ���
��
���� ��
 	����� ��� 
�� 	�

�
�� (	����� Vk

�
�
�� �
�� ��	� ����

���� Fik

% 
� ���
���

∀x ∈ Fik,





En
k(x) = −En

i (x),

H
n+1/2
k (x) = H

n+1/2
i (x).

+%���,

�
�� ����
�� ��� 	
�����
�� ���
�������% 
� ���
��� 
� 	
�����
� ��
���� �� �� #�
������

���
!���� 	
�����
� ��	������ �� �
�	�� 
� ��
������ ����� 

�� ��� 
����� ��(��	�������� ��
�
��
�� ������� �� 	
���� 	���� 	
�����
� �� #�
������

�� ��� 
�� ��
���
�� ���������

∀x ∈ Fik,





H
n+1/2
k (x) = ciεi ñik ×En

i (x),

En+1
k (x) = −ciµi ñik ×H

n+1/2
i (x),

+%���,

�

ci = 1/
√
µiεi

��� 
� ������� 

	�
� �� ��
����

����� �
�����
� �� ������
�� �����

� �	� �� ����
��� �
��� ���� �'$� �� ��� ����� ���� ���� 

����� 
� ���

���

��� �
��	
��
���� 	�� ������� 
�� �
���� ��� 
� 	
���� �� �	���� ��	���� ��� +%�&, 	
������
!$



���� ���	� ��� �����	��� �� ����

�
�	������ �� ������
��� ���	��� �� 
�������� �
�	��
���������� 

����� 
�� 	
�����
�� ��


������ �
�� ����

������ �����% 
� �	���� ��� �
����(����� �� �
��% �
�� ��� 	
�����
�
�� ���� !
	 ��� ∆t

% 	���� ������� ���	���� ��� ��� �
��� ����������� ��(��� �
������

��� ��	
����� ���������� ~En
i

�� ~H
n+1/2
i

� 	� �����
��� �� �	���� ��� ����� �������� 	�
	
�����
� �� �����
��� �
���� ���� �'$� ��� ��� 	
�����
� ��-����� ���� ������	���� ���
�
�� �����
����
�� ��� ���� 
� ��������� 	� 	
�����
� �� �����
��� ��� �
�� ���
����
�� ����
���������� �������������� $
�
�� ��� ���� 	� �
���
���� ���� ������
% 
� ���
� 	
��������
��� �� 	�
���� ��� 	����� �
����� 
�� ����� �
�	��
�� �� ���� �
�� ����������� E

��
H �

	��
������
� �� 	���� ������� ���	���� En  
�������� n ��� �
���� ���

En =
1

2

∑

!�

�
��
i

εi
t~En

i Mi
~En

i + µi
t ~H

n−1/2
i Mi

~H
n+1/2
i .

+%��",

�`� �	��e c
� ��������� c
 ���


!
��� �
�� 
���
�� �� ���� 
� ��	��
� %���'% 
� �	���� ��
����� ���	
����� +%�&,
��� ����
� ���

�� ��� �
���� 
�� �
�	��
�� �� ����� ��� 
�
� 	�
���� �
���� ����

�� �
����
���������� �
�� E

��
H � �� �� 	
������� �	� ��� ��� ���

���� ��
��������� 
���
�
���
�� �
������ ����
	��� 
�� 	����� ��� ��� �
�	��
�� 
���������
�� ����
	�� 	
������� ������

�����
���� ��� ���� �� P1 ��� ��
�
�� �	� ��� ���� �� �
�	��
�� ��� ��	������ �
��� �� ������
�� 
������� �� �
���� 
�����	� ��	�
���
 �������� ��� 	�� �
�	��
�� �� ���� P1

div
�

!
������
�� �
�	 �� ���

��� ��
�������� 
���
�
��
� �
�� 	����� 	�

�
� Vi
% 
� �
��

Gi = t(xGi
,yGi

,zGi
)
�
� 	����� �� ������� ��

∆ = t(∆xi,∆yi,∆zi)
�� ���

�� �� ����
����

�

�� 
�����	� P1
div

�������� ��� 
�� �
�	��
�� �� ���� ���������





ϕi1 =t (1,0,0), ϕi2 =t (y − yGi,0,0), ϕi3 =t (z − zGi,0,0),

ϕi4 =t (0,1,0), ϕi5 =t (0,x − xGi,0), ϕi6 =t (0,z − zGi,0),

ϕi7 =t (0,0,1), ϕi8 =t (0,0,x − xGi), ϕi9 =t (0,0,y − yGi).

+%��%,

�� ����

��� ���P1
div


� �	���� ��
����� ���	
����� ����
���� �� 	�
�
 ��� �
�	��
�� ��
���� P1

div
�

��2����� ��/�� ����� �����	�� ����������� � � ������� �	�����	�� P1
div

��� � �	��������
����� ���� ������ ������� Vi

� ����� �� ��	��� ���� �������� ���� ����� ���	�	 �� �����	��

P1
div

� �� ����	��� �� ���������	�� ��� �����	��� �� �	�������� ���� �� ����	�� ����

��2����� ��/�/ �� ���� �� P1
div

��� ������������ �� � �� �� ��

∀k, ∀l (1 ≤ k,l ≤ 9),

∫

Vi

ϕik.ϕil = 0 �	 k 6= l.

��� ����������� ��� ����	��� �� ����� ������� Mi
���� �	���������

!&



����	��� �� ������� ������	� �	�����	��

��2����� ��/�� �� ������������� �� ������ ��� �� ����� �� ������� E
���� � ��������

Vi
������ �� Gi = t(xGi

,yGi
,zGi

)� ���� �
����� � ����	��

E(x,y,z) = E(xGi
,yGi

,zGi
) + (x− xGi

)
∂

∂x
E(xGi

,yGi
,zGi

)

+(y − yGi
)
∂

∂y
E(xGi

,yGi
,zGi

) + (z − zGi
)
∂

∂z
E(xGi

,yGi
,zGi

) +O(∆2).

�� 	����	���� ���� �� ���� ���	�� ��
E

���� � ������� P1
div

� �� ����	� ��� ���� ������ �������

Vi �
��� ������ �� �	����� �� E ������������ ��� �����	���

Ei1 −→ Ex(xGi
,yGi

,zGi
),

Ei2 −→ ∂

∂y
Ex(xGi

,yGi
,zGi

),

Ei3 −→ ∂

∂z
Ex(xGi

,yGi
,zGi

),

Ei4 −→ Ey(xGi
,yGi

,zGi
),

Ei5 −→ ∂

∂x
Ey(xGi

,yGi
,zGi

),

Ei6 −→ ∂

∂z
Ey(xGi

,yGi
,zGi

),

Ei7 −→ Ez(xGi
,yGi

,zGi
),

Ei8 −→ ∂

∂x
Ez(xGi

,yGi
,xGi

),

Ei9 −→ ∂

∂y
Ez(xGi

,yGi
,yGi

).

!
�����������  ��� ���	��������
� P1 % Ex
+�����	�������� Ey

��
Ez
, �� ����� ��� ����


� ����	��
� x
+�����	�������� y

��
z,� �
 ������ ����� ��
������ ��� ������� 
�����	� ���

�
������ (��� 	������� �� �
�� ��� ����� �� $���
�	 �
��H(rot)
�'#�� 	�����	� P1

div
��������

�
�	 �� ����� �� 
������ �� �
��� ��� 	
��
����� �� 	���� ��� 
�����	� P1 � 	�����	� Q1

��� ��	
�� �
�� 	
����
 ������� �� ����� �� 
������ ��� 	
��
����� �� 	���� ��� ��	�������
��� 	����� �
���� �� 	����� �� ��	���� ���� 
� ���
��� %�� 
� �
���� �� ������ �� 
������
��	������� �
�� �� 	���� ���� 	����� ��
����� �
�� �������� ���	��������
���

P0 P1
div P1 Q1

������ �� 
������ % & �" "'
���� %�� � ������ �� ������ �� �	����� ���� �� �����

*�



���� ����� �� � ������� �� �	�����	��

�� ���� ��� 
� �	���� ����
���� �� 	� 	�
�
 �� �
�	��
�� �� ���� ��� ����
� +	
��������
�
�� 
�������� � ��	��
� %���',� $
�� ��
�� 	
������ ������������� ��� �� ���

��� 	������
��� 
� 
����� �� �����
��� ��

ν = ∆t
√

∆x−2 + ∆y−2 + ∆z−2
��� ��*!� !���� ��
��� ���  

	
������ ���	 
� 
����� �� �����
��� �� �	���� �� "�� �� 	�

� �� �	���� )
! +���
���%�",� �� �����

� ��� 
� �	���� )
! ��� ������
��� �� �	���� ��
����� ���	
����� ���
�
�� ���
�� �� ��	���� ���	 ��� ����

�����
� P0 ��� ����������� �
�	  	� ��� 
� 	
�����
�
�� �����
��� �
�� �
�� ������	���� �
�� 
� �	���� ���P1

div
� $
�� ��
�� �� +��	��
� ��*, ���


� �	���� P0 ��� ��� 
�� ��
������� �
�� ������� ��� ���

�� ��-���� +��������
�% ��.�
�
��
���������,� �
 ��� �
�	 �����������
� �� �
���� �� 
�����

"�� )
! P1
div

ν
� " ��*!

���� %�" � ����	�	�� �� ����	�	��

�`� a�	c
 c
 ��
��
	� c
 c���
�����
�� ��
�
�� �	� ��������� 
������� �� ��������
� �� �	���� ��
����� ���	
����� P1

div

��
�� 
� 	
������  	�

� �� �	���� �� "��� $
��� ����� �� 
������� �� 	�
	�
 �� 
� ��
���
� ��
��������
� ���	���� �
�� ��� 
���� �
���� �
�� 
� ��	���� ��
��� ��� 	

�������  t(1,0,0)

%
t(1,1,0)


� t(1,1,1) ��� �����

� 
� 	�
	�
 �
�� ��� 
��� �
��� 	

�������  t(1,0,0) �
�� 	
������� ��� ���

�

����
���� +∆x % ∆y
��

∆z
	
�������,� �� ������ �
�� 	���� ���
�������
� 
�� 	�

�
�� ���


���� ����	�� j % m ��
p �
�� � �
�� ���	�������� Eid


�
dieme ����� �� 
������ ��

E
����


� 	�

�
� i � �� �������  ������� ��� Ejmp,d

�
dieme ����� �� 
������ ��

E
���� 
� 	�

�
�

(j,m,p) �
�� 	���	�� ����� ��� �

���
� �� �	���� ���P1

div

�
�� 
� �
���





H
n+ 1

2

jmp,4 = H4e
i(ω(n+ 1

2
)∆t+jk∆x)),

H
n+ 1

2

jmp,5 = H5e
i(ω(n+ 1

2
)∆t+jk∆x)),

En
jmp,7 = E7e

i(ωn∆t+jk∆x)),

En
jmp,8 = E8e

i(ωn+∆t+jk∆x)),

H
n+ 1

2

jmp,d = 0, d 6= 4, d 6= 5,

En
jmp,d = 0, d 6= 7, d 6= 8.

+%��',

��2����� ����� �� ��������� � ���� �����	�� �� ������ ����� ���� ������� � �����
t(k,0,0)

��� �� �����
�� �� ���� ������ ���� � �	��	�� j 	�����	���� ��� ��� �	����� H4 � H5 �
E7

��
E8

���� �����	��� � �� ������ ������� ��Hy �
�� ���	��� �� x

��
Hy �

�� ������ �������
��
Ez

�� �� ���	��� ��
x
��
Ez
��������� ������ �

*�



����	��� �� ������� ������	� �	�����	��

�� ����
���� 
�� ���
� s % t % u % v �� 
�� �����	�� P
��
Q





s =
i sin(k∆x)

∆x
,

t =
1

2
(1− cos(k∆x)),

u =
3

∆x2
(2 cos(k∆x)− 2),

v =
−3i sin(k∆x)

∆x
,

P =




0 0 s t

0 0 u v

s t 0 0

u v 0 0



, Q =




µ 0 0 0

0 µ 0 0

0 0 ε 0

0 0 0 ε



.

�� �
�� V =t (H4,H5,E7,E8)
� �
��� �

���
� �� �	���� ���P1

div

�
�� 
� �
��� +%��',
����(�

2i

∆t
sin

(
ω∆t

2

)
V = Q−1PV.

+%��!,
�(� ������
�� ��� ��
���
� ����� ω

%
k
��
c
% 
� 	�
	�
� 
�� ��
���� ��
���� �� Q−1P � � 
�
����

���
% 
�� ������ ��
���� ��
���� ��
Q−1P

�
�� �
����� ���

λ1/k = 1 + k2∆x2/48 +O(k4∆x4),

λ2/k = −1− k2∆x2/48 +O(k4∆x4),

λ3/k = 3 + 5k2∆x2/16 +O(k4∆x4),

λ4/k = −3− 5k2∆x2/16 +O(k4∆x4).

+%��*,

	�� ��	����� ��
���� ���
	���  
λ3

��
λ4

������� ���� t(0,± i,0, ± 1)


����� ∆x

���� ����
�� �
 ������ �� �
��� ��������� � Hjmp,4

+��
��� �
����� ��
Hy

���� 
� 	�

�
� (j,m,p), ��
Ejmp,7

+��
��� �
����� ��
Ez

���� 
� 	�

�
� (j,m,p), �
�� ��
�� �� 	
��������� λ1
%
λ2

��+%��!,% 
� 
������

ω2 = k2c2 +
ω2∆t2

12
+
k4c2∆x2

24
+O(∆x4).

+%��#,
�� ����
���� ��� 
� ���

��� ��� 	������ +

∆x = ∆y = ∆z, �� �� �
����

ν = c∆t
√

∆x−2 + ∆y−2 + ∆z−2
% 
� ��
���
� +%��#, ���	���

ω2 = k2c2
(

1 + k2∆x2

(
ν2

36
+

1

24

)
+O(k4∆x4)

)
.

+%��$,
*"



���� ����� �� � ������� �� �	�����	��

!
������
��  ������� ��� 
��� �
��� �� ��	���� ��
��� k =t (kx,ky,kz)
�� �� ���

���

����
��� +∆x % ∆y ��
∆z

	
�������,� �� 	���	�� �

�� ��� �

���
�� �� �	���� �
�� 
� �
���





~H
n+ 1

2

j,m,p = ~H0e
i(ω(n+ 1

2
)∆t+jkx∆x+mky∆y+pkz∆z),

~En
j,m,p = ~E0e

i(ωn∆t+jkx∆x+mky∆y+pkz∆z),


� ~H0
�� ~E0

�
�� ��� ��	����� ���
� �� �������
� ����� �� ����	���� ��� ��

� �

���
�
���� 
� �	���� ���P1

div

% 
� ��
����  �� ������� ����
����  +%��!, 
� 
� �����	� Q−1P
��� ���������� �� ���

� 18 × 18 �

����� 	�
	�
 ��� ��
���� ��
���� ��
Q−1P

% ��
�	��
� ���
�
��� �
����������� �� ����

�������� 
������% 
� 
������ �
�� �� ���

��� 	������ 
��

��
���
�� �� ��������
� ���	���� ���������

k = |k|/
√

2 t(1,1,0) : ω2 = |k|2c2
(

1 + |k|2∆x2

(
ν2

36
− 1

168

)
+O(|k|4∆x4)

)
,

k = |k|/
√

3 t(1,1,1) : ω2 = |k|2c2
(

1 + |k|2∆x2

(
ν2

36
− 1

36

)
+O(|k|4∆x4)

)
.

+%��&,

�� �����

� �
�� 
� �	���� �� "�� 
�� ��
���
�� �� ��������
� 	
�����
�������

k = |k| t(1,0,0) : ω2 = |k|2c2
(

1 + |k|2∆x2

(
ν2

36
− 1

12

)
+O(|k|4∆x4)

)
,

k = |k|/
√

2 t(1,1,0) : ω2 = |k|2c2
(

1 + |k|2∆x2

(
ν2

36
− 1

24

)
+O(|k|4∆x4)

)
,

k = |k|/
√

3 t(1,1,1) : ω2 = |k|2c2
(

1 + |k|2∆x2

(
ν2

36
− 1

36

)
+O(|k|4∆x4)

)
.

+%�"�,

�� � ���������� ��� 
�� (����� %�� �� %�" 
� ����� ��
���� ���
 �� 
������� �� ��������
� �
��

�� ��
�� ��	����� ��
��� 	
�������� ���	�������� �
�� 
�� �	����� ���P1

div

�� "��� !��
������ ��
���� ���
 
�� ��� ���	�� �� �
�	��
� ��

ν
��� 
�� �
���� �� �����
��� �����	�����

��� �	����� +ν ∈ [0,0.65] �
�� ���P1
div

��
ν ∈ [0,1] �
�� "��, �� 
�� ��� �
���
���� ���


� ��
���� �� 
������� +������� ��� 
� �	���� �� "�� �
�� k = |k| t(1,0,0)
��
ν = 0

� 
�
�
��� �
�	 (ω2 − |k|2c2)/(|k|4c2∆x/12),�!���� ����� ����� ��� ����� 	
��
��� ������ ���
��� �
�� k

���
	
����� 	� ��-	�
��
����� ��

� ���
��� ������ �
�� �
�� ���� 
� 	�
	�
 ��� ��
���� ��
���� ��

Q−1P � 	�� ��
��
����	��
�� �� ��
������
� �������� 	���	�������� �����
��� 
� 	
��
������� �� �	�����
��� (����� %�� �� %�"% 
� ���� ����� 
�� ���
 ������������� ����������� 	
����� ν

��� ��
���
 +��� ����
��  
� 
����� �� �����
���,% 
������� ��
���
�
	
����� ��� 
�� ���
 �	����� ��� ������
���� +��*# �
�� "�� �� ��*' �
�� ���P1

div
,�"� 	
����� ν ������� �����% 
������� ��
���
� �� �	���� �� "�� �������� �

�� ����

�

������� �
�� ���P1
div

��� �
��� ���� 
� ���
��� %�% �
������� ��
���� +�� �
�	��
� ��
ν , ��� ������� ��
���
� �� ������
� 	
������ ��� 
�� ���
 �	������ !
�����������

*%



����	��� �� ������� ������	� �	�����	��

�� �	���� �� "��% ������� ν +���� ������� ∆t, �� ������� ��� 
� ���	���
� �� �	����
���P1

div
�!���� ����
�� ����
� �
�	 �
��
�� ������� ������

���� 

	�
����� ��-���

���� ���
�� ����
����� �� ��� �� ����� 

	�
 �
�� 	
����
�� 
������� �� ��������
��

������ ��
���
� ������ ������
�

���P1
div

"�� ���P1
div

"��

νmax
��*' ��*# ���# �

νmax/2
��!% ��&� ���' ��"!

νmax/4
��!� ��&$ ���* ��%�

� ��! � ���# ��%%
���� %�% � ������� ���	����� �� �	�	����� ��� ������ � ������� �� �	�����	�� � ������ �
���� �	� ������� ������� �� ν

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  0.2  0.6  0.8  1

k=(1,1,1)
k=(1,1,0)
k=(1,0,0)

 0.4

ν

���� %�� � ������	� �	�����	�� P1
div

� ����� � ������ ���� �� � ������� �� �	�����	�� ��
�����	�� ��

ν ���� �	� ������ k

*'



���� ���������	�� �� �� �	��������

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  0.2  0.4  0.6  0.8  1

k=(1,1,1)
k=(1,1,0)
k=(1,0,0)

ν

���� %�" � ������ �� ��� � ����� � ������ ���� �� � ������� �� �	�����	�� �� �����	�� ��
ν

���� �	� ������ k

�`
 ����
������� c
 �� c��
��
��

	�� ��
���
��

div µ(x)H = 0,

div ε(x)E = ρ,

+%�"�,

�
�� ���
������� ���� 
�� ������
�� �� ��
 �

� �
�� ���	�������% �� 	�� ��
���
�� �
��

����(���  
t = 0

+�� ��� +
E,H, �
�� �

���
�� ��� ������
�� �� ��
 �

,% �

�� �
��

�

�� ����(��� �
�� �
�� t �
������ $
�� ����
�� ��� ���� 	
���� �� +%�"�, ���� �
���
���	��������
�� �� 	���	�� �	�  �
����� ��� 
� ����
�� ��
����� ���	
����� ����(�
����
�����

divµ(Hn+1/2 −Hn−1/2) = 0,

div ε(En+1 −En) = ρn+1 − ρn.

+%�"",

!
������
�� �� ���

��� 	
��
��� ������������ 
� ��
�������� 
���
�
��
� #
�� S ��
�
���� �� 	� ���

���� �� �
�� C


�������
� ��� �
������ Vi
��
���
� 
� �
����

S
����������� �� ���������� �� ��
 �

���

C
��� 
� (���� %�% �
�� 
�������
��� "� ����

���

��� ������������ �� ��
�������� 
���
�
��
� �� ������� ��� Vi

�������
� ��� �
�����

�� 
��
����� Vi
%
Fik = Vi

⋂
Vk

��
ñik


� �
���
� �������� 
������� ��
Vi

���� Vk
�

*!



����	��� �� ������� ������	� �	�����	��

S SV

V V

V

i

k

i

k

F
Fik

ik

���� %�% � ������ � �	�������	�� C ������ �� ������
S
� ��� ��

$
��� ���
�������
� 	
��
��� ���
 �������
�� �� �� �
��� �� ����	� ��	�
���
 ��
����� ���	
����� G �� ��� �
�	��
� ����

ϕ � #� ϕ
	
������  ����
�� ���� C % C∞ ��� 	��	�� ��� �
������ 	
������ ���� C �� ��

� ���
∇ϕ ����������  
�����	� ��	�
���
 ��
����� ���	
����� G % 
� �
���� �

�� ��� �
���
�

���
� �� �	���� ��
����� ���	
����� ���
	��  
�����	� ��	�
���
 G ����(�

∫

C
ϕ divµ(Hn+1/2 −Hn−1/2) = 0,

+%�"%,

∫

C
ϕ div ε(En+1 −En) =

∫

C
ϕ(ρn+1 − ρn).

+%�"',

"� �� ��	��� ������� 
�� ����	�� ��	�
���
� G �� 
�� �
�	��
�� ���� ϕ ����(��� 
�� ���
������
�������� 	�������� �
�� 
�� 	�� �� ���

���� ������������� �� ��
��������� +��	��
��%�'�� �� %�'�",�

�
���
�� ����
�� 
� �������� ������ �� �� �
��� ��� �
�	��
� ����
ϕ

	
������  ����
��
���� C �� C∞ ��� 	��	�� ��� �
������ 	
������ ���� C � �� ����
�� �� �
�� ��� ∇ϕ
����������  
�����	� ��	�
���
 ��
����� ���	
����� G ���� 
����
 
� ������

�� 	� 	
��������
��
ϕ �
�� ������ ���	����

[∇ϕ]ik × ñik = 0 ∀Fik ⊂ C.
+%�"!,

�� �
���� �

�� ���
∫

C
ϕ divµ(Hn+1/2 −Hn−1/2) = 0.

+%�"*,
**



���� ���������	�� �� �� �	��������

#
�� �� �(��
(En

i ,H
n+1/2
i )i,n

��� �

���
� �� �	���� ��
����� ���	
����� +%�&,� �� � �

��

∫

C
ϕ divµ(Hn+1/2 −Hn−1/2)

= −
∫

C
∇ϕ.µ(Hn+1/2 −Hn−1/2) (ϕ

 ����
�� ���� C)

= ∆t
∑

Vi⊂C



∫

Vi

rot(∇ϕ|Vi
).En

i −
∑

k∈Vi

∫

Fik

∇ϕ|Vi
.

(
En

i + En
k

2
× ñik

)
 . (∇ϕ ∈ G)

+%�"#,
$
�� ��
�� rot(∇ϕ) = 0 �

�� ���	������ 
� �
��� +%�"#,% 
� 
������
∫

C
ϕ divµ(Hn+1/2 −Hn−1/2)

= −∆t
∑

Fik⊂C

∫

Fik

∇ϕ|Vi
.

(
En

i + En
k

2
× ñik

)
+∇ϕ|Vk

.

(
En

i + En
k

2
× ñki

)

= −∆t
∑

Fik⊂C

∫

Fik

[∇ϕ]ik.

(
En

i + En
k

2
× ñik

)

= 0,

+%�"$,

	�� [∇ϕ]ik × ñik = 0 �#
�� 
�� ����� ���
������% 
� �
���� �� ������� ���

��� ���
∫

C
ϕ div ε(En+1 −En)

= −
∫

C
∇ϕ.ε(En+1 −En)

= ∆t
∑

Vi⊂C

∫

Vi

∇ϕ.jn+1/2.

+%�"&,

�� �	��� �
���

����� ���

∆t

∫

C
∇ϕ.jn+1/2

= −∆t

∫

C
ϕdiv jn+1/2

=

∫

C
ϕ(ρn+1 − ρn) +O(∆t2).

+%�%�,

	������� �� O(∆t2)
��� ��� �� ���� ��� jn+1/2 ������� 
� ��
��� �� 	
����� �
��	� j

 

�������� (n+ 1/2)∆t �

*#



����	��� �� ������� ������	� �	�����	��

#� 
� ��(���

jn+1/2 =
1

∆t

∫ (n+1)∆t

n∆t
j,

+%�%�,

� �
���� �

�� ���

∫

C
ϕ div ε(En+1 −En) =

∫

C
ϕ(ρn+1 − ρn).

+%�%",

����� ��� 
�
��������	
#
�� ϕ ��� �
�	��
� Pk+1 +k ≥ 0, 	
������ ��� C  ����
�� ���� C � �� � �

�� ∇ϕ

����������  
�����	� Pk ���	
������ 	� �	���� ��
����� ���	
����� Pk ����(� �
�	 +%�"*,
�� +%�%", �
�� �
��� �
�	��
� ����

ϕ Pk+1  ����
�� ���� C �

����	 ��� ����������	
���� 
� 	�� ���� ���

��� ��
�������� 	
��
���% �� �
����

S ����������  ����
��
������� C ��� �
�	 
� �����
� �� ���� 	����� 	� �
�� ����� ����	� ��	�
���
 �� �
�	��
��
�

��
���
��  ����
�� ���� C ���

Q1
� !
������
�� �
�	 ��� �
�	��
� ϕ ∈ Q1 	
������  

����
�� ���� C ��

�� ���� 	����� ��
�����%∇ϕ ����������  
�����	� ��	�
���
 E ��������
��� 
�� �
�	��
��





ϕ1 =t (1,0,0), ϕ2 =t (y,0,0), ϕ3 =t (z,0,0), ϕ4 =t (yz,0,0),

ϕ5 =t (0,1,0), ϕ6 =t (0,x,0), ϕ7 =t (0,z,0), ϕ8 =t (0,xz,0),

ϕ9 =t (0,0,1), ϕ10 =t (0,0,x), ϕ11 =t (0,0,y), ϕ12 =t (0,0,xy).

+%�%%,

	� �
�� ����� ����	� ��
����� ���	
����� �������� 
� 	
��������
� �� 
� ��������	� �� ����
�� 
� ��
���
� +%�"*, ��� �� ���

��� ��
�������� ��� �
�	 
�����	� E � !�� ����	� E �����
��� 	
����� ���� 
�����	� P1

div

��� �
�� ��
�� 	
�������� 	�����	� P1
div

�� ������ �
�	 ���
�� ����(�� +%�"*,� E ��� ��� �
���
� �������� ��� 	����� �
����� Vi

+�� 	����� �� �������
Gi = t(xGi

,yGi
,zGi

), ��� 
�� ���� �
�	��
�� �� ���� +%��%, ���������� P1
div

�� ���





ϕi10 =t ((y − yGi)(z − zGi),0,0),

ϕi11 =t (0,(x − xGi)(z − zGi),0),

ϕi12 =t (0,0,(x − xGi)(y − yGi)).

+%�%',

�� �
�� ���E 
� �	���� ��
����� ���	
����� 
����� ���	 
�� �
�	��
�� �� ���� +%��%, ��+%�%',� 	�� �
��� ������ �� 
������ �� 	���� E
�
�� �
��� �
�� 	� �	���� ~Ei,E

� �
�� 
�

�	���� ���P1
div

% 
�� ���� ������ �� 
������ �
�� �
��� ~Ei,�1
div

� $
�� ��
�� �

�� ��� �
��
���

��� 	
��
���

∀ 1 ≤ j ≤ 9, (~Ei,E)j = (~Ei,�1
div

)j.
+%�%!,

*$



���� ���������	�� �� �� �	��������

�� ����(� �� �(�� ��	�
����� ��� ��� �
�� �
����� Vi
�� ��� �
��� ��	� Fik

∀ 1 ≤ j ≤ 9, ∀ 10 ≤ l ≤ 12,





∫

Vi

rot(ϕij).ϕil = 0,

∫

Fik

(ϕij ×ϕil).ñik = 0,

∫

Fik

(ϕij ×ϕkl).ñik = 0.

+%�%*,

��������� ���% 
�� ���� ������ �� 
������ 	�
	�
�� ���	 
� �	���� P1
div


�� �
�	������ 
��

����� ��
���� ��� 
�� ���� �������� ������ �� 
������ 	�
	�
�� ��� 
� �	���� ���E � 	�� ��
�������� �� 
������ ����
���������� ����
����� ��� 
�����	� E ������� ����� ���� �����������
	
��� ��� ������ 	
���	���� �������� 
� 	
��������
� �� 
� ��������	���� �
��% �� 
� �������

�� ������������
�� ��� ���
 �	����� ��� 	����� �
�����% �
�� ��
��

∫

Vi

Ei,E =

∫

Vi

Ei,�1
div
.

+%�%#,

�
�� 	
�	
���% 
� �	���� ���E ��� 
� �	���� ��
����� ���	
����� �� ���� +%�&, 
�

�
��� 	
����
 ��� ������ 
� 	
��������
� �� 
� ��������	� �� ���� +%�"*, ��� �� ���

���
��
�������� 
���
�
��
� ���� ��� �� ����(��� ��� +%�"*,% 
� �	���� P1

div
������ ��
������

���� 	����� �
����� 
����� ��
��� �
����� ��� ���E �
�� �� 	
�� �
����� +���� ������
�� 
������ ��� 	���� 	
���� �
���,�
��2����� ����� �� ���	� � ��� ���� �� ��� �� ��� �	 ϕ ∈ Q1 � ����� ∇ϕ ∈ P1

div

� � ������
�� � ������� P1

div

���� ������ ����� ���� �� ��� � �������� �� ���������	�� �� �� �	���������

����� ������
��� ��������	 � ��� ����	 ����
� ������	
�� ����������� �	�  �� 	�� �
�� ���������� �� ����(�� 
�� ��
���
�� �� 	
��������
� ��


� ��������	�� �� 	
������� ��� 	����� ����

���� Ω = [0,1]3
���� 
����

� 
� ���
�� ��

	
����� �
��	�

j(t,x,y,z) = cos(t)




π cos(πx)(sin(πz) + sin(πy)) + (2π2 − 1)x sin(πy) sin(πz)

π cos(πy)(sin(πx) + sin(πz)) + (2π2 − 1)y sin(πz) sin(πx)

π cos(πz)(sin(πy) + sin(πx)) + (2π2 − 1)z sin(πx) sin(πy)



.

+%�%$,
	� 

� �� 	
��������
� �� 
� 	����� �
�� �
���

ρ(t,x,y,z) = sin(t)(sin(πy) sin(πz) + sin(πz) sin(πx) + sin(πx) sin(πy)).
+%�%&,

*&



����	��� �� ������� ������	� �	�����	��

�� ����(� �

�� ���

E(t,x,y,z) = sin(t)




x sin(πy) sin(πz)

y sin(πz) sin(πx)

z sin(πx) sin(πy)




��

H(t,x,y,z) = π cos(t)




sin(πx)(z cos(πy)− y cos(πz))

sin(πy)(x cos(πz) − z cos(πx))

sin(πz)(y cos(πx)− x cos(πy))




�
�� �

���
�� ��
∂E

∂t
− rot(H) = −j,

∂H

∂t
+ rot(E) = 0,

div(E) = ρ,

div(H) = 0,

~n×E = 0
��� ∂Ω.

�� ��(��� 
�� ��������	�� ���������� �� E
��

H
�� ����������� �� 
����
��� ���	������� ��

	
������� �
�	 �� �
����
S

�� 
� �
�� C

�������
� ��� �
������ Vi

��
���
� 
� �
����

S ����������� #
�� ϕ 
� �
�	��
� �����������  
Q1 ��
��� � �� �
����

S
�� � ��� �
��

�
���� ��
C

������	� ��
S � �� ��
�
�� �� 	�
	�
�� +	�� ϕ  ����
�� ���� C ,

∫

C
ϕ div(Hn+1/2 −Hn−1/2) = −

∫

C
∇ϕ.(Hn+1/2 −Hn−1/2)

+%�'�,

��
∫

C
ϕ div(En+1 −En) = −

∫

C
∇ϕ.(En+1 −En).

+%�'�,
�� 	�
	�
� 
�� ��������� +%�'�, �� +%�'�, �
�� 
�� �	����� ���P0 �� ���P1

div
� �� ���
��� ��

���

��� 	������  "* �
���� ��� 

������ ��
��� ���	 ���P1
div

�� �� ���

��� 	������  %# �
���� ��� 

������ ��
��� ���	 ���P0 � 	�� �
����� �� ������ �� 
������ ������ �
��

�� ���
 ����
���
�� �
�� �

�� ��������� ������������� �
���� ��� 
� (���� %�' 
� ��
��� �� +%�'�, �
�� 
�� �	����� ���P0 �� ���P1

div
����� ���

�
�� ����
�� ��� �� ���
����� ��� 	���� �������� ��� ��

�% �
�� 	
�����
�� �������������
���� 
�� ���
 	�� ����

� ��� ���� ��
	�� �� ���
 +�� 
�
���� ��

10−15,�
#�



���� ���������	�� �� �� �	��������
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 2e-15
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Temps (sec)

div H numerique

��� ����0

-1.5e-14

-1e-14

-5e-15

 0

 5e-15

 1e-14

 0  1e-08  2e-08  3e-08  4e-08  5e-08  6e-08  7e-08  8e-08  9e-08  1e-07

Temps (sec)

div H numerique

��� ����1
div

���� %�' � ���	�� ������� � div(H)
�����	���

	� (���� %�! ���������� 
� ��
��� ��������� �� 
� ��������	� ��
E � $
�� ��
�� ����

�
��� �� ��� 	
������

∫

C
ϕ div ε(En+1 −En) =

∫

C
ϕ(ρn+1 − ρn).

�� 	
����� �
�	 
��
������
� +%�'�,  ∫
C
ϕ(ρn+1 − ρn) �

�� 	
������ ��� ���� 
� 	�� �� �	���� ���P0 	�� ���
 ��������� �
�� ���� ��(������� �

��
����

�� �
�� ��������� ���������� �
�� 
� �	���� ���P1

div
� �� �
�
���� 	�
� ��� 
� ����

��� 
� �	���� ���P1
div

	�
	�
� 
� ���� ��
��� �
����� ��� 
� �	���� ���E ��� ����(�+%�%",�
#�



����	��� �� ������� ������	� �	�����	��

-0.001

-0.0008
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 0.0002
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 0.0008
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 0  1e-08  2e-08  3e-08  4e-08  5e-08  6e-08  7e-08  8e-08  9e-08  1e-07

Temps (sec)

div E numerique
variation densite de charge (exacte)

��� ����0

-2e-05

-1.5e-05

-1e-05

-5e-06

 0

 5e-06

 1e-05

 1.5e-05

 2e-05

 0  1e-08  2e-08  3e-08  4e-08  5e-08  6e-08  7e-08  8e-08  9e-08  1e-07

Temps (sec)

div E numerique
variation densite de charge (exacte)

��� ����1
div

���� %�! � ���	�� ������� � �������	��� ����� div(E)
�����	��� �� ρ �����

�� �
���� ��(� ��� 
� (���� %�* 
���

���
� �� ����� �� 
� 	
��
����� Ez
�� �� �
���

�� 
� 	������ 	� �

���
� 
������ ���	 
� �	���� ���P1
div

�� 	
����� ���� ����  
� �

���
�
�
�	�� �

�� 	�

� 
������ ���	 
� �	���� ���P0 ��� ��� ��������������

-0.3

-0.2

-0.1

 0

 0.1

 0.2

 0.3

 0  2e-08  4e-08  6e-08  8e-08  1e-07

Temps (sec)

solution calculee
solution exacte

��� ����0

-0.3

-0.2

-0.1

 0

 0.1

 0.2

 0.3

 0  2e-08  4e-08  6e-08  8e-08  1e-07

Temps (sec)

solution calculee
solution exacte

��� ����1
div

���� %�* � ���	�� ������� � ������	�� �� ����� �� Ez
�� �� ��	�� �� �� ���	��

�`� d��
���	 ����� ���������

�
 ����
� ��� 
� ����
�� 
� �
�� �-	�	� �
�� ���
���� 
�� 
���� �
�	��
�����������
��� 
� ��	������ ��� ��	 +�����	�
� ���	��� 	����, ����
����� ��� �������� �!�� �
 ������
�����
���� ��� 	
�	��� �� ��������
 (	����  ������� !���� ����
�� ��
�
��� �
�� 
�
�	���� ��(����	�� 
����� �� "�� �������� ��
 ����
��� )

���� 
���� ����� $
�� �


��

#"



���� �����	�� ���	� ���������

�
����� ��� 
�� ��	 ���������� ����� ���� ���� �� �	���� ��
����� ���	
����� �� ��� 
��

����
����	�� �
�� ���

����� ��� 	�

�� �� 
� 	
�����
� ���
������ ��
���� �� �� #�
����
��

�� +��"�,�
����� �������	

�� �	���� 
� �
����� �� 	�
	�
 �� ���
 �
��� ������	���� ���� 
����% 
� ���
�� 
��

������
�� �� ��
 �

 	
����������� �� ���� 
������ 
� ���
�� 
�� ������
�� �� ��
 �


�	����� ���� �� ��
��� (	��� ���
������ 	� �������� ��
�
�� ��� �������� ������ ��
������
�� 	
�-	���� ���
����� �� ��.�
�
� ��
 �
�� ��� 
��� �
��� �������� ��� 
��������	� �����
��
��� �� 	� ���
� ��� �
���� 
� �������	� 
� 
����
� ����	����	��
!����� 	
��
����� �� 	���� �
�	��
���������� ��� ��	
��
��� �� ���
 �
���
	
��
������ +��� �
���
� Ex = Exy + Exz

,� ����� ���� 
� ��
��� ��	% �" 	
��
������
�
��  	�
	�
��� �� ����
���� ���
����� ��� 	
���	������� ��� ����	��
�

σ = t(σx,σy,σz)
��

σ
∗ = t(σ∗x,σ

∗
y ,σ

∗
z),

����(���
σ

ε
=

σ
∗

µ
.

�� ��(��� σx
+���� σy

��
σz
, �� 
� ������� ��������

σx =





σ0

∣∣∣∣
x− a
A− a

∣∣∣∣
n �� |x| > |a|,

0
���
�,


�
A

��
a

��������� �����	�������� 
����	���� ���� �
��� �� 
��������	� �������	 ��

����	���� ���� �
��� �� 
� ��
������ �� �
����� �� 	�
	�
��� �	��� 
�� �" ������
�� �� ��
��� ��	 �
�� 
� �
��� ��������





ε
∂E1

∂t
+ S1(σ)E1 = r1(H1 + H2),

ε
∂E2

∂t
+ S2(σ)E2 = r2(H1 + H2),

µ
∂H1

∂t
+ S1(σ

∗)H1 = −r1(E1 + E2),

µ
∂H2

∂t
+ S2(σ

∗)H2 = −r2(E1 + E2),

+%�'",


�
E1 = t(Exy,Eyz,Ezx)

%
E2 = t(Exz,Eyx,Ezy)

%
H1 = t(Hxy,Hyz,Hzx)

��

H2 =t (Hxz,Hyx,Hzy)
� 	�� 
��������� S1

��
S2

�
�� �
���� ��� +v = t(vx,vy,vz)
,

S1(v) =




vy 0

0 vz 0

0 0 vx




��
S2(v) =




vz 0

0 vx 0

0 0 vy


 .

+%�'%,

#%



����	��� �� ������� ������	� �	�����	��

	�� 
��������� ��(�������
� r1 ��
r2

�
�� ��(��� ���

r1 =




0 0 ∂y

∂z 0 0

0 ∂x 0




��
r2 =




0 −∂z 0

0 0 −∂x

−∂y 0 0


 .

+%�'',

����	 ���������
��� ��������	
�� ����
	�� E1

%
E2

%
H1

��
H2

���� P1
div

� !
��� ���� 
� ��	��
� %����% 
�� ������
��+%�'", �
�� ��
���
���� ��� ��� �
�	��
� �� ����
ϕij

�� 
� ������� ��� 	����� 	�

�
� Vi





∫

Vi

t
ϕijεi(

∂E1

∂t
+ S1(σ)E1) =

∫

Vi

(r1(H1 + H2)).ϕij ,

∫

Vi

t
ϕijεi(

∂E2

∂t
+ S2(σ)E2) =

∫

Vi

(r2(H1 + H2)).ϕij ,

∫

Vi

t
ϕijµi(

∂H1

∂t
+ S1(σ

∗)H1) = −
∫

Vi

(r1(E1 + E2)).ϕij,

∫

Vi

t
ϕijµi(

∂H2

∂t
+ S2(σ

∗)H2) = −
∫

Vi

(r2(E1 + E2)).ϕij.

+%�'!,


�� ���������
� ��� ������ �
�� ������ ���	����




∫

Vi

t
ϕijεi(

∂E1

∂t
+ S1(σ)E1) =

∫

Vi

r1(ϕij).(H1 + H2)−
∫

∂Vi

S1(ñ)ϕij .(H1 + H2),
∫

Vi

t
ϕijεi(

∂E2

∂t
+ S2(σ)E2) =

∫

Vi

r2(ϕij).(H1 + H2)−
∫

∂Vi

S2(ñ)ϕij .(H1 + H2),
∫

Vi

t
ϕijµi(

∂H1

∂t
+ S1(σ

∗)H1) = −
∫

Vi

r1(ϕij).(E1 + E2) +

∫

∂Vi

S1(ñ)ϕij .(E1 + E2),
∫

Vi

t
ϕijµi(

∂H2

∂t
+ S2(σ

∗)H2) = −
∫

Vi

r2(ϕij).(E1 + E2) +

∫

∂Vi

S2(ñ)ϕij .(E1 + E2).+%�'*,
!����� �������
� ��� 	�
	�
�� �� 
� ���� ������� ��� ���� 
� ��	��
� %���� +��
��	��
�
��� 	����� ���� P1

div
�
�� 
�� �������
�� �

������� �� ����

�����
� 	������ �
�� 
��

�������
�� �����	�����,� �
 �����  ���	���� 
� �	���� ����
��
� !����� ������
� �	�
���� ��
������� +%�'*, ���� ���	���� �
�� 
� �
���

∂E

∂t
+ σE = f(H(t)).

�� ����
�� σ 6= 0 �
�� 	�
���� �� ���	������� 	���� ������
� ��� �� �	���� �
�
������
�

�
�� 	� ����� 
� ���
�� 
�������
� ��(�������

�




∂E

∂t
+ σE = f(Hn+1/2), t ∈ [n∆t,(n+ 1)∆t]

Et=n∆t = En.

+%�'#,

#'



���� �����	�� ���	� ���������

	��	������ �� 
� �

���
� �� +%�'#,  t = (n + 1)∆t �
�� ������ ���	���� 

����� σ 6= 0

�

�	���� �������

En+1 = e−σ∆tEn +
1− e−σ∆t

σ
f(Hn+1/2).

+%�'$,
	
����� σ → 0

% 	� �	���� ��� 	
�������� ���	 
� �	���� �������
��
�

En+1 = En + ∆tf(Hn+1/2).
+%�'&,

�� ����% 
�� ������
�� �	�
����� �� ����

∂H

∂t
+ σ∗H = g(En),

�
�� ���	�������� ��� +σ∗ 6= 0,
Hn+1/2 = e−σ∗∆tHn−1/2 +

1− e−σ∗∆t

σ∗
g(En).

+%�!�,
����� �����
���� ��� ����
	�

�(� �� �
���� 
� �
����� �� 	�
	�
% 
� ��
��� ��	 �
�� ���� ��
����� !
��� 
�
������� ��������% �
�� ��
�� ����
�� ���
��� ���� 
� ��
��� ��	 ��� 	
�����
�� ��
 
������

����

������ �� � �
�	 ���
�� ��� 
�� 	����� ��	
�������� E = E1+E2

��
H = H1+H2


�
	
�����
� ����

���� +%���,� ��� �������
���� ���������� ��� ��� 	�
	�
� �� ����� 

�� 
��

�

�� ��� ����������� #����

�� ��� �
�� ��
�� ������ ��� �	����� ��(������ �� �	����
�
�
������
 �
�� 
����������
� ����
��

� ��� ��
�� �� ��	�� ����	� ��� 	�� ����
�����
���������
����
�
�� ��
����� 
� ��
��� ��	% �
�� ��
�
�
�� �����
���� 
� 	
�����
� ���
������ +%���, ���
E = E1 + E2

��
H = H1 + H2

� ���	 	���� 	
�����
� ��
 
������% �
�� ����
��  	� �
��
	
������ ��	�� ����
���� ���������
��� ���� ��� ��� ����
���
�� �� ����� 

���

����� �����
��
��� ��������	
�
�� �
����� 
��-	�	��� ��� ��	% 
� ����
� 
� ��
������
� ���� ����
� �
�	������

���� 
� ����� 	� ����
� ��� 

	�
��� ���� 
� 	��� V �� 	

�������  
��
� z � j = t(0,0,jz)
� 	�

����
� ��� �
��
��� ��� ��� �
��	� �

������
∫

V
jz =

∂ρ

∂t
.

	� ��
(
 �� �
���� ���

���� ρ ��� ��� ����������

ρ(t) = 10−10exp

(
−
(
t− 3T

T

)2
)
, (T = 2ns).

#� 
� ����
�� j
	
������ ��� V % 
� ����(� ��� 
�
� � �
�� 
�� �
�	��
�� �� ���� P1

div




∫

V
j.ϕij = 0, ∀j 6= 7,

∫

V
j.ϕi7 =

∂ρ

∂t
.

#!



����	��� �� ������� ������	� �	�����	��

�
�� �� ����
� �
�	� �� (xd,yd,zd)
��
jz = −f(t)δ(xd,yd,zd)

% 
� �

���
� ��� ������
�� ��
��
 �

 ���� 
� ���� ���	 ��� ��

� �
��	� ��� �
���� �� �
�� ����� t

�� �� �
�� �
���

(x,y,z) ���

Hx = −y(f ′(t− r)/r2 + f(t− r)/r3)/4π,
Hy = x(f ′(t− r)/r2 + f(t− r)/r3)/4π,
Hz = 0,

Ex = xy(f ′(t− r)/r3 + 3f(t− r)/r4 + 3F (t− r)/r5)/4π,
Ey = yz(f ′(t− r)/r3 + 3f(t− r)/r4 + 3F (t− r)/r5)/4π,
Ez = z2(f ′(t− r)/r3 + 3f(t− r)/r4 + 3F (t− r)/r5)/4π

−(f ′(t− r)/r + f(t− r)/r2 + F (t− r)/r5)/4π
+F (t− r)δ(xd,yd,zd))/4π,

+%�!�,


�
r =

√
(x− xd)2 + (y − yd)2 + (z − zd)2

��
F (t) =

∫ t

x=0
f(x)dx �

�� �� �
��� �� �
����� �� 	�
	�
 �� 403 	�

�
��� �� �
�	� 
� ����
� �� 	����� �� �
������
!����� 	�

�
� � �
�� ���

� 5cm×5cm×5cm � !� ���

��� ��	
�� 
� 	
�	�� ��	 ��� � ���
��������� �� 8

	�

�
��� �� 	
����� 
�� ����
���� 
������ ���	 
�� ��	  	��
 
������ ���	

� 	
�����
� ��
���� �� �� #�
������

��� �� �����

� ��� 
� ���	��������
� �� ��
��� ��	
��	������ " �
�� �
�� �� ������ �� 
������ ��� 
� ���	��������
� ��� ������
�� �� ��
 �

�
�����% �
�� 
� ����
���
� ���	 	
�����
� ��
���� ��% 
� 	
������� �� �
����� �� 	�
	�
 ��
483 	�

�
��� 	� �
���� �� ������ �� 
������ ��� �

�� ��������� �
�� 
�� ���
 ����
���
���
�� �(��% 
� ����
���
� ���	 ��	 ��	������ �#!#* �
������ ���� 
� ���� �� '*'"' ���� 
��

��	� #�	���� ��� 	����� 	���� �������� & ������ �� 
������ ���� 
� ���� �� �$ ���� 
��

��	% 
� � �� �
���� �� ������ �� 
������ ��� 	���� ���
  

9× (17576 + 2× 46424) = 993816.

�
�� 
� ����
���
� ���	 	
�����
� ���
������ ��
���� ��% 
� � �� �
���� �� ������ ��

������ ��� 	���� ���
  

9× 483 = 995328.
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� (���� %�# 
���

���
� ����
��

� �� 
� 	
��
����� Hx
�� �� �
��� �����

 �� 	�

�
�� �� ����
� ��  " 	�

�
�� �� 
� 	
�	�� ��	� �

�� ��� 
� �

���
� 
������
���	 ��	 �� 	
����� ������������  
� �

���
� ���
������% 
� �

���
� 
������ ���	 
�
	
�����
� ��
���� �� ��� ��������� ��� ��� ��.�
�
��� #� 
� �
������ 
������ ��� ����
����
�� ���� ���	���
�% 
� �
�� ���
���� �� �
����� ��

603 	�

�
��� 
��
���� 
�� ��	 ������

�

�� �
�� 	� 	�� ����
�� !� %
�� ������ �� 
������ �� �
��� �
�� ��� ���	���
� ����������
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��� ���

���� %�# � ����	�	�� � ������ �� �� ��� � ������	�� �� ����� �� Hx

�`� �
�	����� �	�
��b	
�
����� ���� ��
������	

�� �������� �	� �� 	�� ���� �
�� 
�� ����
���� �
�� �� 	
�� ��(����	�� 
����� �
��
�
���� ���� �!*�� �
 ������ ���� ���� ����

���� �
������� ��� 
�������� +(���� %�$,�
	�� �������
�� �� 	�� ���� �
�� Lx = 13m

%
Ly = 10m

��
Lz = 7m � 	� �
��� ���

	������ ��� 
� ��	� x �� � �
�� �������
�� ly = 5m
��
lz = 4m � 	� ���

� �� �
�����

�� 	�
	�
 ���
21m× 18m× 11m � 	� ����	���� ��� �

������ ��� �� 	���� ��	����� ��

���� ��
����� �
�
������
 +���$ �����, �����
����� ��
���
� � )�� �� �

�������
�
�����	�
� +Ez,Hy,� 	� �������	� ��
���� �� �����
 ��� ��� �&�� 	� 

������ ��
���
������
� λmin

��� �
�	 ��
�� ������� 	� 	���� ��	����� � 
� �
���

Ez =
α+ β

α

(
α

β

) β

α+β (
e−α(t− (x− xr)/c0 − tpq) + eβ(t− (x− xr)/c0 − tpq)

)−1
,


�
α = 8.5 108 % β = 3.6 106 % tpq = 20 10−9 ��

xr = −4m ��� ���
��� �� ���

��� 
���
�
��
 ����
���� 	� ��� �� ���	��������
� ���

∆x = ∆y = ∆z = 1/3m
	� ��� 	
�����
��  & �
���� ��� 

������ ��
���� 	�� 	�
	�
�

�
�� ���
���� �� 	���� �
��
� �� �������� ��� 
� (���� %�& 
���

���
� �� ����� �� 
�
	
��
����� Ez

�� �� �
��� �� 
�����	� 
���� �
����� ��+�%�%'�%%�!�, �� �� �� �
��� ��

�����	� 
���� ������� ��+"�%!�%%�!�,� 	� (���� %��� �
���� ��� �
������� 	
���� 
� ��
���
�� |E|  t = 0.12 ns �

�� �
���� ��(� ��� 
� (���� %��� 
� ��
��� �� |E|  t = 0.12 ns
���
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������ �� 	
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���	 	��
 
������ ���� �!*� ���	 
� �	���� ��(����	�� 
������ 	� ��� �� ���	��������
�
���
��� �
�� 
�� ��(����	�� 
����� ���

∆ = 1/5m � 	� ��
�
��� � �

�� *�" $*' ������
�� 
������ ��� 	
��
����� �� 	����� $
�� ��
�� �� ���
���� ���	 
� ����
�� ��
�����

##
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���	
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��� �
�� ��
����� +∆ = 1/3m, �� ��& *$� �
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�
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������� �� %!& �'� ������ �� 
�������
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� � � � � � � � � � �
� � � � � � � � � � �
� � � � � � � � � � �
� � � � � � � � � � �
� � � � � � � � � � �

� � � � � � � � � �
� � � � � � � � � �
� � � � � � � � � �
� � � � � � � � � �
� � � � � � � � � �
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� � � � � � � � � �
� � � � � � � � � �
� � � � � � � � � �
� � � � � � � � � �
� � � � � � � � � �
� � � � � � � � � �
� � � � � � � � � �
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���� %��� � |E| � t = 0.12 ns ��� �� ������� ������� �� � ����	
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��� ��� �� ���	 ��
������	
�� ������ 
� ��(��	��
� ���� 	��� ����

���� �� �������
�� 1m×1m×1m

�

����� ���
��� 
��� �
��� �� �������	� %�� �&�� 	� 

������ ��
��� λ ��� �
�	 � �� �� ���
��� ���
���	��������
� 	
�����
�����  ��
 �
���� ��� 

������ ��
���� �(� �����
��� 
���.���	�
��� 	
�����
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������% 
� ���
��� ��
�� ����
���
���
�� 
�� ����
���
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� ���
��� 
� 	
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� ���
������ +!	�, ��
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	�
 ��� 5λ×5λ×5λ �

�� � ����� �"' ��� �
������ �
�� %#" ��� ������ �� 
�������
%� 
�� ����
���
� 
� 
� ���
��� 
�� ��	� 	� 	
�	�� ��	 ��� �
�	��  ��� 

������

��
��� �� 	��� �� �
� ��������� ��� λ/2 +�
�� ! 	�

�
��,� �� � �

�� �"' ��� �
������
�
�� *� ��� ���� 
� 	
�	�� ��	� �� � �

��  ������� !!! ��� ������ �� 
�������

	�� 	�
	�
� �
�� �(�	���� �� 	���� ��(��	�� �� �
�� ����� ������ 	� ����� ������
����
����� �
�� �������� �
�� ���
��� 
� ����
��	��� �� �����
% 
� ��(���  
� ����
�� n

� ������ rn

rn =
En − En−1

E2 − E1
,

+%�!",

� En ��� 
�������
��� ���	��� �� 
�������� �
�	��
���������� ��(��  
� ��	��
� %���'��� ��
��� 
�� 	�
	�
� 

����� |rn| < 0.01 � �
�� 
�� ���
 ����
���
�� ���	 !	� ��
����
��% 	���� 	
�����
� ��� ����(�� �
�� n = 6 �


�� 

������ ��
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	�
 ��� .�
 �
�� 
� ����
�� ��
�����

���	
����� ��������� �� 	������� ���	������ �� ��
�
�� ������
����� ���� 
� 	�
	�
 ��� .�

�� ��������� ��� 
����
 
� ����� �
�� 	
����
�� 
� ��������
�� !���� �����	�� ��������� ��
	� ��� � ��� ���� ���	 
��

β��	����� +	������� ",� !�	� �
�� ��������� �� ����(�� 
� ��
���
�
�� ��������
�  
�
���� ������ ���� 
� ����	��
� t(1,1,1) �

$
�� ����
�� �

�� ��� 

�����

� ���

��� ��� ��-�� �� ������� 	
��
���% 
������� �� ��������
� ��� 	
������
�  	�

�

���
���� ���	 �� �	���� �� "�� ���	 ��� �� ����� 

	�
� $
�� ����
�� ����� ��� 	����

����
	�� ��� �� ���� ������� �� 	�� �
��	
��
����


`_ d�c�������� c	 ����	� c
� �	e
�� ������� �
�	������ 
�� �
����
�� �� 
� ��	��
� %����� 	�� ��������� ������ �� 
�

���	��������
� �
�� ���
����� ����������� �� �����

� �������� ��
�� ��
���
�� 
�� ������
��
�� ��
 �

 ��� ��� �
�	��
� ����

ϕij
�� ����� ��
�� ������� ��� �� �

���

Vi
% 
� � 
�

&%



����	��� �� ������� ������� �� ��� ��������

�������





∫

Vi

εi
∂E

∂t
.ϕij =

∫

Vi

rot(ϕij).H−
∫

Vi

j.ϕij −
∫

∂Vi

(ϕij ×H).ñ,

∫

Vi

µi
∂H

∂t
.ϕij = −

∫

Vi

rot(ϕij).E +

∫

∂Vi

(ϕij ×E).ñ.

+'��,

�� ���
����� ���� 	� 	������� �
	
��������� 
�� �
�	��
�� �� ���� �� 
�����	� P1
div

+��	��
�%�",� �����% �
�� �
�� �

���
Vi
% 
� �
���� �� �
�	��
�� �� ���� di

��� ���
  &��� ��
�
�� �� �
��(�� 
� 	�
	�
 ��� .�
% �
�� 
����
����
� ��� ������

∫

∂Vi

(ϕij ×H).ñ,

∫

∂Vi

(ϕij ×E).ñ.

+'�",

�� �����

� +�
���
� +%�*,, ��� �
�� �
�� �
���� Vk
��

Vi
% 
� ���
���� ���� 
� 	�������

���	����� 
��������
� ��� 
��� ��	� 	
����� Fik
���

∫

Fik

(ϕij ×H).ñ ' 1

2

∫

Fik

(
ϕij × (Hi(x) + Hk(x))

)
.ñ

' 1

2

9∑

l=1

Hil

∫

Fik

(ϕij ×ϕil).ñ +Hkl

∫

Fik

(ϕij ×ϕkl).ñ.

+'�%,

H
��� ����� ����
	�� ��� 
� ������
��� �� ��� ������������
�� �� ���� �� ������� �� 
�

��	�� !���� ��
��� ��� ������� �������� �
�	�������
	� �
��(	���
� ��� �


�� ����
����� ������ ���� 
� �
���
� +'�%, �� 	�
	�
 ��� �������
��
��� 
�� ��	��� !���� �
��(	���
� ��������� �� β��	���� +	������� ",� ���	 	� �	����% 
��
	����� ��� 
�� ��	�� �
�� ���
��� �� ������� 
� ������
��� �� ���
 ����� 	
������� �� ����
�� ������� �� 
� ��	�� #�� 
�� ���
 �
������ ��
���
� 
� ��	� ����������% 	�� ����� 	
�������
�
�� 	�
	�
��  ������ ����� ������

���
� ��������� ����� 	
�������
� ����� ��� ����� ��

�� ��������� $
�� ��
�� �� ��� 

����� 
� ���

��� ��� ����
���% ���
 
� �������� +�
�����
��� 
� ��������� β, ����������� �� ���� ���	���� ���� 	� 	�� 
� �
���
� +"�',

∀x ∈ Fik, H(x) ' 1

2

(
Hi + 2β ¯̄∇Hi.

−−−−→
GiGFik

+ Hk + 2β ¯̄∇Hk.
−−−−−→
GkGFik

)
,

+'�',

�

Hi

+�����	�������� Hk
,�� Gi

+�����	�������� Gk
, ��������� 
� ��
��� �
����� �� 
�

	����� �� ������� ��� 
��
����� i
+�����	�������� k,��� ���� ���������� �� 	���� ����
	�� �
�� 
� �	���� ��
����� ���	
������ �� �����

�+�������� %�"�%, ��� 
�� ������ �� 
������ t(Hi1,Hi4,Hi7)

������� 
� ��
��� �
����� ��
H���� 
��
����� i

�� ��� 
�� ������ ������ �� 
������ �
�� ��
����� ��
 ����������� ����
�������

&'



���� ���	����	�� �� ������ ��� ���

��� ��������� α > 0
% 
� 	�
	�
�

∀x ∈ Fik, H(x) ' 1

2


Hi1 +Hi4 +Hi7 + α

9∑

l=2,l 6=4,l 6=7

Hilϕil(GFik
)




+
1

2


Hk1 +Hk4 +Hk7 + α

9∑

l=2,l 6=4,l 6=7

Hklϕkl(GFik
)




+'�!,

�� �
����

α =




α1

α2

α3

α4

α5

α6

α7

α8

α9




=




1

α

α

1

α

α

1

α

α




,
+'�*,


� ��
�
�� (��
����� �� ���������� 
� �
���
� +'�%, ���
∫

Fik

(ϕij ×H).ñ ' 1

2

9∑

l=1

αl

(∫

Fik

ϕij

)
× (Hilϕil(GFik

) +Hklϕkl(GFik
)) .ñ.

+'�#,
���
 �
��(	���
�� �
�� ����
������ ��� ����
��  
� �
���
� +'�%,� ����� ���� 
� ����
����
�� ��������� α �� ������� ���� 
� ����
�(� 
� 	�
	�
 ��� �������
�� ��� 
�� ��	�� �� ���
�����

� ��
��� �� 	�������� �
�	��
�� �� ���� ��
 	������ �� ������� ��� ��	��� �� ����

� 
�
�	���� ����
���� �� �
����� 	�
	�
 �� .�
 +'�#, �	���� ��
����� ���	
����� �
�����+���,��� ���� ����� ����������� 
� �	���� ��� 	
��� �� �	���� 
� 
�� .�
 �
�� 	�
	�
�� ���
��� 	
�������
� ��������� ��

α
��� ������������
�� P0 ��

P1
div

∀x ∈ Fik, 2H(x) ' (1− α) (H1lϕ1l(GFik
) +Hk1ϕk1(GFik

))

+(1− α) (H4lϕ4l(GFik
) +Hk4ϕk4(GFik

))

+(1− α) (H7lϕ7l(GFik
) +Hk7ϕk7(GFik

))

+α

9∑

l=1

(Hilϕil(GFik
) +Hklϕkl(GFik

)).

+'�$,

�� ����(� ��	�
����� ��� +'�$, 	
�����  +'�#,�
&!



����	��� �� ������� ������� �� ��� ��������

��2����� ����� ������ ��� �����	��� ��� �� ��	����� �������� �� ���� � ������� P1
div

� 	�
��� ���	�� �� ���	� �� ���

∀j = 1..9, ∀l = 1..9,





∫

Fik

(
ϕij ×ϕil

)
=

(∫

Fik

ϕij

)
×ϕil(GFik

),

∫

Fik

(
ϕij ×ϕkl

)
=

(∫

Fik

ϕij

)
×ϕkl(GFik

).

+'�&,

��� ������� � �� ������� ������ �� �� ��	� ���� �� ��� ��� �� ��������� ������	���	��� ����
�� ������� ����� � �� �� ��	� �� �	������	�� �� �����
��� α

�


`� ��������
 c	 ��	
��

$
�� ��
�� �
��(� 
� 	�
	�
 ��� .�
� 	�� ���
������ �� ���
���� ���� �� �'$� ��

� 	
��������
� �� 
�������� ���	���� �� �
�� �
�� ����(���� 	� �����
��� �� �	���� ���
����� �
�	 ��� �������� $
�� �


�� �
����
�� �
����� ����
 �
���� ��� ������� +��(������
�� 
�������
��� L2 �� 
�������� �
�	��
����������, ��� �� 	
������� !���� ������� �
��
��������� ��������� 
� �����
��� �� �	���� �
�� ��� 	
�����
� �� ���� !
	�
�����1����
 ��/�� �� ������ ��� �������� ��� ���� ��	����� ���������� ��������� ��
������������� ��� �����	� ���� � ��������	�� � � �	������ n∆t

��� ������ ���

En =
1

2

∑
��������

i

εi
t~En

i M
α
i
~En

i + µi
t ~H

n−1/2
i Mα

i
~H

n+1/2
i ,

+'���,
�� �� ����	�� � ������	� �	�������Mα

i

��� ����	� ���

(Mα
i )j,j = αj

∫

Vi

|ϕij |2 , 1 ≤ j ≤ 9.

������ ��/�� �
�� �
�� �� 
�����
���% 
� ��
�
�� ��� ���
�������
� ���� 
� 	�� ����������
���
� 	� ���
�������
� ��� ��������� ���� 
� 	�� �����������
���
� �� 	
�������
�
�	 
� ������� �� ��
 �

 "� ���� 
� �

�������
� ��





µ
∂Hz

∂t
+
∂Ey

∂x
− ∂Ex

∂y
= 0,

ε
∂Ex

∂t
− ∂Hz

∂y
= 0,

ε
∂Ey

∂t
+
∂Hz

∂x
= 0.

�� �� �
��� �� ���

��� 
���
�
��
 ��(�� +	
��
��� 
� �
��	
��
���,� !����� �
����� Ci��� �
�	 �� ��	����
� �� ���

� (∆xi,∆yi).
�� �
�� εi

��
µi

�����	�������� 
� ������������
�� 
� ��������
��� �� ��
��� ��� 
��
����� Ci

��� ����

� �������	� 
��������	��
� �� ���
 �
������ 

������
 ������ ��������� �� 
�� �
��

aij = Ci
⋂
Cj

� #�� 	����� �������	� aij
% 
� �
�� −→nij = t(nijx,nijy)


��������
� �� 
� �
���
�

&*



���� ����	�	�� �� ������

�������� 
������� ��
Ci

���� Cj

� 

�� ��

aij
� �� �
�� ��(� −→̃nij


� ��	���� �������� ���
	��
�� Vj


�������
� ��� �
������ Cj
�
����� ��

Ci
+��� Ci

⋂
Cj 6= ∅,��
�� �
��� ���

� 
���
�
��
� 	
��
��� 
� �
��	
��
���% 
� � 
�� ��
������� ���������





∑

j∈Vi

~nij = 0

~nij = − ~nji

∑

j∈Vi

|nijx| = 2∆yi
�� ∑

j∈Vi

|nijy| = 2∆xi.

+'���,

���� 
� 	�� "� ��% 
������ ��� �
�	��
�� �� ���� P1
div

��	������ ��
�� ������ �� 
������
�
�� Hz

	
���� ���
 ������ �� 
������ �
�� Ex
��
Ey

� �
�� ��	�
���� 
��	������ �����	��

�
�� �	����% 
� �	���� ��� ��� Ex

��
Ey


�� 	��	�� ��
�� ������ �� 
������ ���	 �� �� 	��
����� �� 
������ ��
� �� �
�� Hzi

%
Exi

��
Eyi


�� ��	�����  ��
�� 	
��
������ 	
������� 
��
������ �� 
������ ��

Hz
%
Ex

��
Ey

���� 
��
����� i �
$
��� 	
������
� ��� ��� 
� ���
����

����� �� 
������ ��
Ex

��� ��
 �� 
� ��
������ ������ �� 
������ ��
Ey

��� ��
� �����% 
��
	
��
������ ��� 	����� 
�� ���� 
��
����� i


� ������������
� ��������





Hz = (Hzi)1 + (Hzi)2.(x− xGi
) + (Hzi)3.(y − yGi

).

Ex = (Exi)1 + (Exi)3.(y − yGi
),

Ey = (Eyi)1 + (Eyi)2.(x− xGi
).

+'��",

	� �	���� ��� ���	��� �

�� �� "�




µiMi
H

n+1
2

zi −H
n−1

2

zi

∆t
=−My

i En+1
xi +Mx

i En+1
yi +

∑

j∈Vi




−(Kij +Kji)nijx + (Gij +Gji)nijy

−∆xi(Kij +Kji)|nijx|/2
∆yi(Gij +Gji)|nijy|/2


 ,

εiMi
En+1

xi
−En

xi

∆t
= −My

i H
n+1

2

zi
+
∑

j∈Vi




(Fij + Fji)nijy

0

∆yi(Fij + Fji)|nijy|/2


 ,

εiMi

En+1
yi −En

yi

∆t
= Mx

i H
n+1

2

zi −
∑

j∈Vi




(Fij + Fji)nijy

∆xi(Fij + Fji)|nijx|/2
0


 ,

+'��%,
&#



����	��� �� ������� ������� �� ��� ��������


� 
�� .�
 ����� 
�� �
������ Ci
��
Cj

�
��





Fij =
H1

zi

2
+ α

∆xi

4
ñijxH

2
zi + α

∆yi

4
ñijyH

3
zi,

Gij =
E1

xi

2
+ α

∆yi

4
ñijyE

3
xi,

Kij =
E1

yi

2
+ α

∆xi

4
ñijxE

2
yi .

	�� �����	�� Mi
%
Mx

i

��
My

i


�� 
�� �
������
�� ���������

Mi =




∆xi∆yi 0 0

0 ∆x3
i ∆yi/12 0

0 0 ∆y3
i ∆xi/12




%

Mx
i =




0 0 0

∆xi∆yi 0 0

0 0 0




��
My

i =




0 0 0

0 0 0

∆xi∆yi 0 0


 .

�� ����
���� 
� �����	� ��������� Mα
i =




∆xi∆yi 0 0

0 α∆x3
i ∆yi/12 0

0 0 α∆y3
i ∆xi/12




�

�� ��(��� �

�� 
�������� ���	����

En =
∑

i

εi
tEn

xiM
α
i En

xi + εi
tEn

yiM
α
i En

yi + µi
tH

n+1
2

zi
Mα

i H
n−1

2

zi
.

	� �������
� ��������� ��� �
���� ���

∆E = En+1 − En

=
∑

i

( tEn+1
xi + tEn

xi)εiM
α
i ( En+1

xi − En
xi)

+( tEn+1
yi + tEn

yi)εiM
α
i ( En+1

yi − En
yi) +t H

n+1
2

zi µiM
α
i (H

n+3
2

zi −H
n−1

2

zi ).

&$



���� ����	�	�� �� ������

	� ������� +'��%, ������ ���	����




µiM
α
i

H
n+1

2

zi
−H

n−1
2

zi

∆t
=−αMy

i En+1
xi

+αMx
i En+1

yi
−
∑

j∈Vi




(Kij +Kji)nijx − (Gij +Gji)nijy

α∆xi(Kij +Kji)|nijx|/2
−α∆yi(Gij +Gji)|nijy|/2




εiM
α
i

En+1
xi −En

xi

∆t
= −αMy

i H
n+1

2

zi +
∑

j∈Vi




(Fij + Fji)nijy

0

α∆yi(Fij + Fji)|nijy|/2




εiM
α
i

En+1
yi
−En

yi

∆t
= αMx

i H
n+1

2

zi
−
∑

j∈Vi




(Fij + Fji)nijy

α∆xi(Fij + Fji)|nijx|/2
0


 .

�� �
���� Exi = En+1
xi + En

xi

%
Eyi = En+1

yi + En
yi

��
Hzi = H

n+1
2

zi

% 
� ���� �

�� ���
��� 
�
�������
� ���������

∆E = ∆t(a+ b+ c+ d), ��
�	

a =
∑

i

∑

j∈Vi

nijyE
0
xiH

0
zi − nijxE

0
yiH

0
zi +

α2

4

∑

i

∑

j∈Vi

nijyE
2
xiH

2
zi − nijxE

1
yiH

1
zi,

b =
1

2

∑

i

∑

j∈Vi

nijyE
0
xiH

0
zj − nijxE

0
yiH

0
zjnijyH

0
ziE

0
xj − nijxH

0
ziE

0
yj ,

c =
α2

8

∑

i

∑

j∈Vi

∆xi∆xjnijx(E
1
yiH

1
zj +H1

ziE
1
yj)−∆yi∆yjnijy(E

2
xiH

2
zj +H2

ziE
2
xj),

d =
∑

i

α∆xi∆yi(H
1
ziE

0
yi −H2

ziE
0
xi − E2

xiH
0
zi + E1

yiH
0
zi),

+
∑

i

∑

j∈Vi

α
∆yi|nijy|

2
(E0

xiH
2
zi + E2

xiH
0
zi)− α

∆xi|nijx|
2

(E0
yiH

1
zi + E1

yiH
0
zi).

$
�� ��
���
a = 0

	�� ∑

j∈Vi

nijx = 0
�� ∑

j∈Vi

nijy = 0 �

�
b = 0 �)���(
�� 
� ��� �
���
� �
�� 
�� ������ �� E0

xH
0
z

1

2

∑

i

∑

j∈Vi

nijyE
0
xiH

0
zj + nijyH

0
ziE

0
xj

=
1

2

∑

aij

nijyE
0
xiH

0
zj + nijyH

0
ziE

0
xj + njiyE

0
xjH

0
zi + njiyH

0
zjE

0
xi

= 0.

&&



����	��� �� ������� ������� �� ��� ��������

	�� nijx = −njix
��
nijy = −njiy

�
�
c = 0 �
�� 
�� ����� ����
���

�
d = 0

	�� ∀i,
∑

j∈Vi

|nijx| = 2∆yi
�� ∑

j∈Vi

|nijy| = 2∆xi
�


���
����� ∆E = 0 � �

�����1����
 ��/�/ ���� �� ����	�	�� ������ ��
α > 0�

� ������	� En ��� ��� �����
�������	��� ����	� ���	�	�� ������ ��� 	�������� �����	����� �� ����	�	�� ������ ����
������ ���� �� ����	�	�� �� �������





∆t2

d2
min

< min

(
4

25
,

16

225α2

)
min
i,j∈Vi

(εiµj ,εjµi),

∆t2d2
max

d4
min

<
2

75α
min
i,j∈Vi

(εiµj ,εjµi).

+'��',

�� dmin = min
i

(∆xi,∆yi,∆zi)� dmax = max
i

(∆xi,∆yi,∆zi)�
�� Vi

� ��������� ��� ��������
��	�	��� �� �� ������� i

�

������ ��/�/ �� 	
������� �� ���

��� 	
��
��� ��(�� 	
������� �� 	�

�
�� Ii,j,k
�� ���

�

(∆xi,∆yj,∆zk)
� �� �
�� Vi,j,k = ∆xi∆yj∆zk

� �
�� ����� ����� �� 	���	���� ����	���� ��
���

��� ��� 
����
 
� ������

�% 
� �
��(� ���
��� ��� 
�� �
����
�� �� 
� ��	��
� '��� ��
�����

� ��� ���� 
�����	� P1

div

% 	����� 	
��
����� �	�
���� ��� 	����� � ��
�� ������ ��

������� ��� 	
������
�% 
� �	��� �	� ��� 	����� 	
��
����� �	�
���� � ������ ������ ��

������ ���	 �� �� ��� ������ �� 
������ ��� ��� ��
� !����� 	���� � �
�	 �	� �
��� ������
�� 
������ +�
�� ��
�� �
�� ��
�,� ��� ����
�� ��
 �
�	��
�� �� ���� �� P1

div

+%��%,% 	�� �
���
������ �� 
������ �
�� ������� �
�� ��� �
���
� 
� 	���� E ���

Ex,1 −→ ϕ1, Ex,2 −→ 0, Ex,3 −→ ϕ2, Ex,4 −→ ϕ3,

Ey,1 −→ ϕ4, Ey,2 −→ ϕ5, Ey,3 −→ 0, Ey,4 −→ ϕ6,

Ez,1 −→ ϕ7, Ez,2 −→ ϕ8, Ez,3 −→ ϕ9, Ez,4 −→ 0.

+'��!,

#�� 	����� 	�

�
� (i,j,k)
% 
� �
�� G = (xG,yG,zG)


� 	����� �� ������� �� 
� 	�

�
�� ��
��(��� 
�� ���
�

a1 = a5 = a9 = V i,j,k,

a2 = a6 = a10 =

∫

V i,j,k
(x− xG)2,

a3 = a7 = a11 =

∫

V i,j,k
(y − yG)2,

a4 = a8 = a12 =

∫

V i,j,k
(z − zG)2.

���



���� ����	�	�� �� ������

�
�� m = 1...4
% 
� ��(���

En
m(i,j,k) = εi,j,k(amE

n
x,m(i,j,k)2 + am+3E

n
y,m(i,j,k)2 + am+6E

n
z,m(i,j,k)2),

Hn
m(i,j,k) = µi,j,k(amH

n−1/2
x,m (i,j,k)H

n+1/2
x,m (i,j,k) + am+3H

n−1/2
y,m (i,j,k)H

n+1/2
y,m (i,j,k)

+am+6H
n−1/2
z,m (i,j,k)2H

n+1/2
z,m (i,j,k)2),

Bn
m(i,j,k) = µi,j,k(amH

n−1/2
x,m (i,j,k)2 + am+3H

n−1/2
y,m (i,j,k)2 + am+6H

n−1/2
z,m (i,j,k)2).

�� ����
���� ��(� 
�� ���������

fx(E
n
x) =

∆yj∆zk∆t

2
(En

x,1(i+ 1,j,k) − En
x,1(i− 1,j,k) + α∆xiE

n
x,2(i,j,k)

−α∆xi+1

2
En

x,2(i+ 1,j,k) − α∆xi−1

2
En

x,2(i− 1,j,k)),

fy(E
n
x) =

∆xi∆zk∆t

2
(En

x,1(i,j + 1,k)− En
x,1(i,j − 1,k) + α∆yjE

n
x,3(i,j,k)

−α∆yj+1

2
En

x,3(i,j + 1,k) − α∆yj−1

2
En

x,3(i,j − 1,k)),

fz(E
n
x) =

∆xi∆yj∆t

2
(En

x,1(i,j,k + 1)− En
x,1(i,j,k − 1) + α∆zkE

n
x,4(i,j,k)

−α∆zk+1

2
En

x,4(i,j,k + 1)− α∆zk−1

2
En

x,4(i,j,k − 1)),

gx(En
x) =

Vi,j,k∆t

4
(En

x,1(i+ 1,j,k) + En
x,1(i− 1,j,k) − 2En

x,1(i,j,k)

−α∆xi+1

2
En

x,2(i+ 1,j,k) + α
∆xi−1

2
En

x,2(i− 1,j,k)),

gy(E
n
x) =

Vi,j,k∆t

4
(En

x,1(i,j + 1,k) + En
x,1(i,j − 1,k) − 2En

x,1(i,j,k)

−α∆yj+1

2
En

x,3(i,j + 1,k) + α
∆yj−1

2
En

x,3(i,j − 1,k)),

gz(E
n
x) =

Vi,j,k∆t

4
(En

x,1(i,j,k + 1) + En
x,1(i,j,k − 1)− 2En

x,1(i,j,k)

−α∆zk+1

2
En

x,4(i,j,k + 1) + α
∆zk−1

2
En

x,4(i,j,k − 1)).

���



����	��� �� ������� ������� �� ��� ��������

���	 	�� �
����
��% 
�������� ���	���

En =
∑

i,j,k

4∑

m=1

(En
m(i,j,k) +Hn

m(i,j,k))

=
∑

i,j,k

4∑

m=1

(En
m(i,j,k) +Bn

m(i,j,k))

+
∑

i,j,k

H
n−1/2
x,1 (i,j,k)

(
fz(E

n
y)− fy(E

n
z )
)

+H
n−1/2
x,4 (i,j,k)gz(E

n
y)−Hn−1/2

x,3 (i,j,k)gy(En
z )

+
∑

i,j,k

H
n−1/2
y,1 (i,j,k) (fx(E

n
z )− fz(E

n
x)) +H

n−1/2
y,2 (i,j,k)gx(En

z )−Hn−1/2
y,4 (i,j,k)gz(E

n
x)

+
∑

i,j,k

H
n−1/2
z,1 (i,j,k)

(
fy(E

n
x)− fx(E

n
y)
)

+H
n−1/2
z,3 (i,j,k)gy(En

x)−Hn−1/2
z,2 (i,j,k)gx(En

y).

�� �	���� 
� �
��� �� * ������

En
1 =

∑

i,j,k

H
n−1/2
x,1 (i,j,k)fz(E

n
y) +H

n−1/2
x,3 (i,j,k)gz(E

n
y) +

a1

2
µi,j,kH

n−1/2
x,1 (i,j,k)2

+a3µi,j,kH
n−1/2
x,2 (i,j,k)2

a5

5
εi,j,k+1E

n
y,1(i,j,k + 1)2 +

a5

5
εi,j,k−1E

n
y,1(i,j,k − 1)2

+
a5

10
εi,j,kE

n
y,1(i,j,k)

2 +
2a5

6
εi,j,k+1E

n
y,3(i,j,k + 1)2

+
2a8

5
εi,j,k−1E

n
y,3(i,j,k − 1)2 +

a8

5
εi,j,kE

n
y,3(i,j,k)

2

En
2 =

∑

i,j,k

−Hn−1/2
x,1 (i,j,k)fy(En

z )−Hn−1/2
x,2 (i,j,k)gy(En

z ) +
a1

2
µi,j,kH

n−1/2
x,1 (i,j,k)2

+a4µi,j,kH
n−1/2
x,3 (i,j,k)2 +

a9

5
εi,j+1,kE

n
z,1(i,j + 1,k)2 +

a9

5
εi,j−1,kE

n
z,1(i,j − 1,k)2

+
a9

10
εi,j,kE

n
z,1(i,j,k)

2 +
2a11

5
εi,j+1,kE

n
z,3(i,j + 1,k)2

+
2a11

5
εi,j−1,kE

n
z,3(i,j − 1,k)2 +

a11

5
εi,j,kE

n
z,3(i,j,k)

2

En
3 =

∑

i,j,k

H
n−1/2
y,1 (i,j,k)fx(En

z ) +H
n−1/2
x,2 (i,j,k)gx(En

z ) +
a5

2
µi,j,kH

n−1/2
y,1 (i,j,k)2

+a6µi,j,kH
n−1/2
y,2 (i,j,k)2

a9

5
εi+1,j,kE

n
z,1(i+ 1,j,k)2 +

a9

5
εi−1,j,kE

n
z,1(i− 1,j,k)2

+
a9

10
εi,j,kE

n
z,1(i,j,k)

2 +
2a10

5
εi+1,j,kE

n
z,2(i+ 1,j,k)2

+
2a10

5
εi−1,j,kE

n
z,2(i− 1,j,k)2 +

a10

5
εi,j,kE

n
z,2(i,j,k)

2

��"



���� ����	�	�� �� ������

En
4 =

∑

i,j,k

−Hn−1/2
y,1 (i,j,k)fz(E

n
x)−Hn−1/2

x,3 (i,j,k)gz(E
n
x) +

a5

2
µi,j,kH

n−1/2
y,1 (i,j,k)2

+a8µi,j,kH
n−1/2
y,3 (i,j,k)2 +

a1

5
εi,j,k+1E

n
x,1(i,j,k + 1)2 +

a1

5
εi,j,k−1E

n
x,1(i,j,k − 1)2

+
a1

10
εi,j,kE

n
x,1(i,j,k)

2 +
2a4

5
εi,j,k+1E

n
x,3(i,j,k + 1)2

+
2a4

5
En

x,3(i,j,k − 1)2 +
a4

5
En

x,3(i,j,k)
2

En
5 =

∑

i,j,k

H
n−1/2
z,1 (i,j,k)fy(En

x) +H
n−1/2
z,3 (i,j,k)gy(En

x) +
a9

2
µi,j,kH

n−1/2
z,1 (i,j,k)2

+a11µi,j,kH
n−1/2
z,3 (i,j,k)2 +

a1

5
εi,j+1,kE

n
x,1(i,j + 1,k)2 +

a1

5
εi,j−1,kE

n
x,1(i,j − 1,k)2

+
a1

10
εi,j,kE

n
x,1(i,j,k)

2 +
2a3

5
εi,j+1,kE

n
x,2(i,j + 1,k)2

+
2a3

5
En

x,2(i,j − 1,k)2 +
a3

5
En

x,2(i,j,k)
2

En
6 =

∑

i,j,k

−Hn−1/2
z,1 (i,j,k)fx(En

y)−Hn−1/2
z,2 (i,j,k)gx(En

y) +
a9

2
µi,j,kH

n−1/2
z,1 (i,j,k)2

+a10µi,j,kH
n−1/2
z,2 (i,j,k)2 +

a5

5
εi+1,j,kE

n
y,1(i+ 1,j,k)2 +

a5

5
εi−1,j,kE

n
y,1(i− 1,j,k)2

+
a5

10
εi,j,kE

n
y,1(i,j,k)

2 +
2a6

5
εi+1,j,kE

n
y,2(i+ 1,j,k)2

+
2a3

5
εi−1,j,kE

n
x,2(i− 1,j,k)2 +

a6

5
εi,j,kE

n
y,2(i,j,k)

2.

�� �

En =

6∑

i=1

En
i .

+'��*,

�� ���� ���
��� 	��	�� �� 	�� * ������ �� ������� ���������� �����% �� �
���� µ = µi,j,k

��%



����	��� �� ������� ������� �� ��� ��������

��
ε = min

l=−1,0,1
εi+l,j+l,k+l

% 
� ���
�� En
1

���

∑

i,j,k

a1

10
µH

n−1/2
x,1 (i,j,k)2 +

a5

10
εEn

y,1(i,j,k + 1)2 − ∆xi∆yj∆t

2
|Hn−1/2

x,1 (i,j,k)||En
y,1(i,j,k + 1)|

+
a1

10
µH

n−1/2
x,1 (i,j,k)2 +

a5

10
εEn

y,1(i,j,k − 1)2 − ∆xi∆yj∆t

2
|Hn−1/2

x,1 (i,j,k)||En
y,1(i,j,k − 1)|

+
a1

10
µH

n−1/2
x,1 (i,j,k)2 +

a8

5
εEn

y,3(i,j,k)
2 − α∆xi∆yj∆zk∆t

2
|Hn−1/2

x,1 (i,j,k)||En
y,3(i,j,k)|

+
a1

10
µH

n−1/2
x,1 (i,j,k)2 +

a8

5
εEn

y,3(i,j,k + 1)2 − α∆xi∆yj∆zk+1∆t

4
|Hn−1/2

x,1 (i,j,k)||En
y,3(i,j,k + 1)|

+
a1

10
µH

n−1/2
x,1 (i,j,k)2 +

a8

5
εEn

y,3(i,j,k − 1)2 − α∆xi∆yj∆zk+1∆t

4
|Hn−1/2

x,1 (i,j,k)||En
y,3(i,j,k − 1)|

+
a4

5
µH

n−1/2
x,3 (i,j,k)2 +

a5

10
εEn

y,1(i,j,k + 1)2 − Vi,j,k∆t

4
|Hn−1/2

x,3 (i,j,k)||En
y,1(i,j,k + 1)|

+
a4

5
µH

n−1/2
x,3 (i,j,k)2 +

a5

10
εEn

y,1(i,j,k − 1)2 − Vi,j,k∆t

4
|Hn−1/2

x,3 (i,j,k)||En
y,1(i,j,k − 1)|

+
a4

5
µH

n−1/2
x,3 (i,j,k)2 +

a5

10
εEn

y,1(i,j,k)
2 − Vi,j,k∆t

2
|Hn−1/2

x,3 (i,j,k)||En
y,1(i,j,k)|

+
a4

5
µH

n−1/2
x,3 (i,j,k)2 +

a8

5
εEn

y,3(i,j,k + 1)2 − αVi,j,k∆zk+1∆t

8
|Hn−1/2

x,3 (i,j,k)||En
y,3(i,j,k + 1)|

+
a4

5
µH

n−1/2
x,3 (i,j,k)2 +

a8

5
εEn

y,3(i,j,k − 1)2 − αVi,j,k∆zk−1∆t

8
|Hn−1/2

x,3 (i,j,k)||En
y,3(i,j,k − 1)|

�� �
�� dmin = min
i

(∆xi,∆yi,∆zi)
��

dmax = max
i

(∆xi,∆yi,∆zi)
�

�� ����(� ��� En
1 ≥ 0

�� ��� En
1 = 0 =⇒ ∀(i,j,k) % En

y,1(i,j,k) = 0,

En
y,3(i,j,k) = 0, H

n−1/2
x,1 (i,j,k) = 0

��
H

n−1/2
x,3 (i,j,k) = 0

��
∆t

��� ��
 ���





∆t2

d2
min

<
4

25
min
i,j∈Vi

(εiµj,εjµi),

∆t2d2
max

d4
min

<
2

75α
min
i,j∈Vi

(εiµj,εjµi),

∆t2

d2
min

<
16

225α2
min
i,j∈Vi

(εiµj ,εjµi).

��� ���
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���
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� ���������

k = |k| t(1,0,0) : ω2 = |k|2c2
(

1 + |k|4∆x2

(
ν2

36
+

3α− 2

18α+ 6

)
+O(|k|4∆4)

)
,

k = |k|/
√

2 t(1,1,0) : ω2 = |k|2c2
(

1 + |k|4∆x2

(
ν2

36
+

18α2 − 27α+ 8

216α2 − 48

)
+O(|k|4∆4)

)
,

k = |k|/
√

3 t(1,1,1) : ω2 = |k|2c2
(

1 + |k|4∆x2

(
ν2

36
+

3α2 − 6α+ 2

54α2 − 18

)
+O(|k|4∆4)

)
.
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���� ���
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√
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���� ������ ���� 	���� ����	��
��	� ����� ��
���� ���
 �
�� k = |k|/
√

3 t(1,1,1)
��� ��
 �� �� ���
����� ��

α2

(
1

2
+
ν2

4

)
− α+

1

3
− ν2

12
= 0.

+'��$,
	� �

����� +'��$, �
����� ���
 ��	���� ���

�� +α1 ≤ α2

, �
����� ���





α1(ν) =
1

1 + ν2/2

(
1−

√
4− 2ν2 + ν4

12

)

α2(ν) =
1

1 + ν2/2

(
1 +

√
4− 2ν2 + ν4

12

)
.
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ν ≤ 1
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α = α1(ν)
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α = α2(ν).
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 �� 
������� �� ��������
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��
k = |k|/

√
2 t(1,1,0)

��
k = |k| t(1,0,0) �
�� α = α1(ν)

��
α = α2(ν)
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���� α = α1(ν)
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����� α = α1(ν)
�
 �
���� ��� ��
��� �� ν ����
��� 
� ����� ��
����

���
 �� 
� ��
���
� �� ��������
� ����(�� �
�� k = |k|/
√

2 t(1,1,0) �
�� �
�� 	���� ��
���

νopt
+
νopt ' 0.6119,� #�� �� ���

��� 	������% �
�� ��
�� �
�	 ���
 �
�����
���� ��� 	�
���� ν = 1 =⇒� 
���� ������ ���� 
� ����	��
� t(1,1,1)

� ������ ��
���� ���
 �
�� k = |k|/
√

2 t(1,1,0)
��

k = |k| t(1,0,0)
���������

����������  "��"� 	�
���� ν = νopt ' 0.6119 =⇒� 
���� ������ ���� 
�� ����	��
�� t(1,1,1)
�� t(1,1,0)

� ������ ��
���� ���
 �
�� k = |k| t(1,0,0) ' 0.62
+
2/3 �
�� "��,�
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�
�� i
�� ���

�

(∆xi,∆yi,∆zi)
� �� �
��





dmin = min
i

√
∆x2

i + ∆y2
i + ∆z2

i

dmax = max
i

√
∆x2

i + ∆y2
i + ∆z2

i .

�� �
��




∆t = dmin =⇒ �����
���,
α = α1(∆t/dmax).

+'�"�,
#���
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��  ������� ��� 
�� 	�

�
�� 
�� �
�� ������� �� 
�� �
�� ��
������� �
���� ��� 	���� +	�
��� ��� 
� 	�� �� �������� ��� 
� ���

��� �
�� 	
��
��� 
� ���,��� � �
�	 dmin =

√
3∆xmin��

dmax =
√

3∆xmax
� 	� 	�
�
 +'�"�, �
�� ������ �
�	 
�
���� ������ ���� 
� ���

�

��
������ �
�� 
� ����	��
� t(1,1,1) � !���� ��
������ ��� ���

����� ������������ �������
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�� ��� 
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� ���
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� ����	��
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	�
	
�����
� �� �����
��� �
�� ���
�� �� �(��

∆t ≤ ∆xmin√
3

.
+'�"",

�� 
�
���� ������ ���� 
� ����	��
� t(1,1,0)
��� ���
��� ��

√
3∆t/∆xmax = νopt

=⇒ ∆xmax

∆xmin
≤ ν−1

opt ' 1.63.
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, �� ����� ���

� ��
������ 	������+��� ������	� ∆xmax
,� �� �
�� n = ∆xmax/∆xmin

��� �	��� 
� ��
���
� �� ��������
� ���� 
� ����	��
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�� �
�	��
� ��

∆xmin
�
�� 
��

��(������ �	�������� �
�� 
� �	���� ��� +
ν = 1

%
α = α1(ν)

,
� ���� 
� ���

� (�� �

ω2 = |k|2c2
(

1 + |k|4∆x2
min

(
ν2

36
+

3α− 2

18α + 6

)
+O(|k|4∆4)

)
,
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ω2 = |k|2c2
(

1 + |k|4∆x2
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2

(
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36n2
+

3α− 2

18α+ 6

)
+O(|k|4∆4)

)
.
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1 + |k|2∆x2
min

(
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1
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)
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������ �

ω2 = |k|2c2
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1 + |k|2∆x2
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2
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ν2

36n2
+

1

24

)
+O(|k|4∆x4)
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� ���

� (�� �
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ν2

36
− 1
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)
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2
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36
− 1

12
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�
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���� 
� ���
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� ���
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���
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� �
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��
� ��� 

�����

�� ���

���� �
�� 	�������� $
�� ����
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���� !
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� ��-	�
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���� ��
���� ��
Q−1P

+��	��
� %�%,% �
�� �� �
���� �� ������ �� �
���� 
� ��
���
� �� ��������
� ���	����
����(�� ��� 
� �	���� ��� ��� �� ���

��� ����
������ ���������� �� ���

� (n∆x,∆x,∆x)��� 

����� k = |k| t(1,0,0) �

���� 	� 	��% 	���� ��
���
� ���

ω2 = |k|2c2
(

1 + |k|4∆x2

(
nν2

24n+ 12
+
n2(3α − 2)

18α + 6

)
+O(|k|4∆4)

)
.

+'�"',
�
�� 
� �	���� �� "��% 	���� ��
���
� ���

ω2 = |k|2c2
(

1 + |k|4∆x2

(
nν2

24n + 12
− n2

12

)
+O(|k|4∆4)

)
.
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��� ���� 
� ���
��� '�' 
�� ��
���� �� ����� ��
���� ���
 ��� ��
���
�� �� ��������
�
���	����� +�
���
����� 	
��� ���� 
� ���
��� ���� 
� ���
��� %�%, �
�� 
�� �	����� ���+
α = α1(ν)

,% ���P1
div

+
α = 1, �� "�� �
�� n = 4

��
n = 10 � �
�� 	��	�� ��� �	�����% 	��

��
���� �
�� �
����� �
�� 
� ��� �� ����� ��
���
 ���
���� ��� 
� 	
�����
� �� �����
����
	� �	���� ���P1
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��� �

�� 
� �	���� ��� �������� 
������� �� ��������
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� �
�� ����
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���P1
div

��� +
α = α1(ν)

, "��

n = 4 $�" �!�$ �!�$
n = 10 !� &&�& &&�$

���� '�' � ������ �� ����� � ������ ���� �� � ������� �� �	�����	�� (k = |k| t(1,0,0)) ����
�� ��	����� �� ���� (n∆x,∆x,∆x)

�� ��
�
�� ���������� �����
��� 
� ���	���
� ��� �	����� ��������� ���	��������
��� ��� ���

���� ��
�������� �
��	������ �� ����
��� 
���

���
� ��� �
��� ��
���� ��+�%�%�, �� +�%�%�,�
��"
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� ���� 
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� ���	��������
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���
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������ �
���� ��� 
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���% ���P1

div
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� �	���� ��� ��� 
� �
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 ��

α ����� �
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� �
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����� k 6= t(1,0,0)
% �
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Galerkin Pondere Solution exacte

���� '�$ � ����������Ez
�������� ��� ��� ������ ��� �������� �� ������ ����	��� ��� ��

� ��� � ������	�� x+ y + z = 3/2
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



∂Hz

∂t
+
∂Ey

∂x
− ∂Ex

∂y
= 0,

∂Ex

∂t
− ∂Hz

∂y
= 0,

∂Ey

∂t
+
∂Hz

∂x
= 0.
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j
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j
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������� 
��
jieme +j = 1..3, ������ �� 
������
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������ Ex
%
Ey

%
Ez

��� 
� 	�

�
� i +
� 
��� 
�� ����	�� ����
��
�,�
#���
�
�� ���  

t = 0
% 	�� ������ �� 
������ ����(���

∀j = 1..3,





Q
j
1 = −Q

j
4,

Q
j
1 = −Q

j
2,

Q
j
2 = −Q

j
3,

Q
j
i = 0, ∀i > 4.
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t = 0

% t(H1
z1,H

2
z1,H

3
z1,H

1
z2,...,H

3
z4)

��� �

���
� ��




A1 0 0 A1

0 A2 A2 0

A3 A3 0 0

0 0 A4 A4







(Hj
z1)j=1..3

(Hj
z2)j=1..3

(Hj
z3)j=1..3

(Hj
z4)j=1..3




= 0,
+'�"$,


�

A1 =




1 −∆x/2 0

−1 ∆x/2 −∆x/6


 , A2 =




1 ∆x/2 0

−1 −∆x/2 −∆x/6


 ,

+'�"&,

A3 =




1 0 −∆x/2

−1 ∆x/6 ∆x/2




��
A4 =




1 0 ∆x/2

−1 −∆x/6 −∆x/2


 .
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